%g-ﬁ OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
A

Lﬂ'ﬁ’u'MT%r FACILITIES DEVELOPMENT DIVISION
APPLICATION FOR OSHPD SPECIAL SEISMIC OFFICEUSEONLY
CERTIFICATION PREAPPROVAL (OSP) APPLICATION #: OSP - 0213

OSHPD Special Seismic Certification Preapproval (OSP)
Type: [ New [X Renewal

Manufacturer Information

Manufacturer:  Johnson Controls Inc. (JCI)

Manufacturer's Technical Representative: ~Cameron Boyce, Engineer Il

Mailing Address: 5005 Interstate Drive, Norman, OK, 73069

Telephone: (405) 419-6830 Email: cameron.w.boyce@jci.com

Product Information

Product Name: Predator Rooftop Air Conditioning Units

Product Type: Packaged Air Conditioning Units

Product Model Number:  See attached
(List all unique product identification numbers and/or part numbers)
The units are enclosures with the following subcomponents: refrigerant compressors, outdoor
General Description: fan motors, indoor coils, outdoor coils, reversing valve with coil, thermostatic expansion valves,
standard indoor blower motor, Variable frequency drive indoor blower motor, exhaust fan motor, variable frequency
drive, economizer, electric heater, heat cells, filters, and other miscellaneous items included in the subcomponent
tables.

Mounting Description:  Units are rigid curb and isolated curb base mounted

Applicant Information

Applicant Company Name: _The VMC Group

Contact Person: John Giuliano

Mailing Address: 113 Main Street, Bloomingdale, NJ 07403

Telephone: (973) 838-1780 Email: john.giuliano@thevmcgroup.com

| hereby agree to reimburse the Office of Statewide Health Planning and Development review fees in
accordance with the California Administrative Code, 2016.

Signature of Applicant: Date: 8/28/19

Title:  President Company Name: The VMC Group

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY
OSH-FD-759 (REV 12/16/15)

“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” |aﬂNhM O S | l P D

Page 1 of 3

03/08/2021 OSP-0213 Page 1 of 61


mailto:cameron.w.boyce@jci.com
mailto:john.giuliano@thevmcgroup.com

i FACILITIES DEVELOPMENT DIVISION

.._Q OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
HI;IWI' J'l‘ Wy

California Licensed Structural Engineer Responsible for the Engineering and Test Report(s)

Company Name: The VMC Group

Name: Kenneth Tarlow California License Number:  SE-2851

Mailing Address: 113 Main Street, Bloomingdale, NJ 07403

Telephone: (973) 838-1780 Email: _ken.tarlow@thevmcgroup.com

Supports and Attachments Preapproval

[ ] Supports and attachments are preapproved under OPM-
(Separate application for OSHPD Preapproval of Manufacturer’s Certification (OPM) of Supports and attachments is required)

XI Supports and attachments are not preapproved
Certification Method

X Testing in accordance with: ~ [X] ICC-ES AC156
[l Other (Please Specify):

Testing Laboratory

Company Name: DCL Labs

Contact Name: Josh Sailer, Laboratory Manager

Mailing Address: 1315 Greg Street, Suite 109, Sparks, NV 89431

Telephone: (775) 358-5085 Email: _josh@shaketest.com

“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” M'IAM O S | I P D

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY u‘h‘W ]

OSH-FD-759 (REV 12/16/15) Page 2 of 3

03/08/2021 OSP-0213 Page 2 of 61


mailto:ken.tarlow@thevmcgroup.com
mailto:josh@shaketest.com

%g-_ OFFICE OF STATEWIDE HEALTH PLANNING AND DEVELOPMENT
L*'ﬁ'm'ﬂﬂ' a?“ FACILITIES DEVELOPMENT DIVISION

Seismic Parameters

Design in accordance with ASCE 7-16 Chapter 13: [X] Yes [] No

Design Basis of Equipment or Components (Fp/Wp) = Rigid Curb = 1.5; Spring Isolated Curb = 4.5

Sps (Design spectral response acceleration at short period, g) = 2.00

ap (In-structure equipment or component amplification factor) = 2.5

Rp (Equipment or component response modification factor) = Rigid Curb = 6.0; Spring Isolated Curb = 2.0

Qo (System overstrength factor) = 2.0

Io (Importance factor) = 1.5
z/h (Height factor ratio) = 1

Equipment or Component Natural Frequencies (Hz) = See attachment

Overall dimensions and weight (or range thereof) = See attachment

Equipment or Components @ grade designed in accordance with ASCE 7-16 Chapter 15: [ ] Yes [X] No
Design Basis of Equipment or Components (V/W) =

Sbs (Design spectral response acceleration at short period, g) =

Spb1 (Design spectral response acceleration at 1 second, period, g) =

R (Response modification coefficient) =

Qo (System overstrength factor) =

Ca (Deflection amplification factor) =

Io (Importance factor) = 1.5
Height to Center of Gravity above base =

Equipment or Component Natural Frequencies (Hz) =

Overall dimensions and weight (or range thereof) =
Tank(s) designed in accordance with ASME BPVC,2015: [] Yes [X] No

List of Attachments Supporting Special Seismic Certification

X Test Report(s) X Drawings [] Calculations [l Manufacturer's Catalog
[] Other(s) (Please Specify):

OSHPD Approval (For Office Use Only) — Approval Expires on December 31, 2025

o .
Signature: / Yo fudi Date: _March 8, 2021
Print Name:_ Tirhothy/J./Piland Title: SSE
Special Seismic Certification Valid Up to: Sps (g) =  2.00 zlh= 1

Condition of Approval (if applicable):

“Access to Safe, Quality Healthcare Environments that Meet California’s Diverse and Dynamic Needs” \JnMM O S I I P D

STATE OF CALIFORNIA — HEALTH AND HUMAN SERVICES AGENCY |"'|'UH W

OSH-FD-759 (REV 12/16/15) Page 3 of 3

03/08/2021 OSP-0213 Page 3 of 61



Table 1 - Certified Components

Manufacturer: Johnson Controls and other Unitary Product Group brands (York, Coleman, Luxaire, Evcon, Fraser-Johnston and Ready Ship)

Product Line: JCl Packaged Rooftop Units

Product Construction: Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options: 230-575 V, economizer, power exhaust, electric or gas heater, variable frequency drive

Mounting Description: Rigid or Flexible Curb Mounting

Dimensions (inches) onerati T:°"‘I'_"a|
., eratin; oolin X
Product Line Model Number® Depth . Height W:ight (I:) Capacitgy Sds (g), z/h=1 Unit
(Tons)
ZH/ZU/JA3 037 89 59 42 860" 3 3
ZJ/ZW/JA3 037 89 59 42 740 3 Interpolated
ZR/ZK/JA3 037 89 59 42 980" 3 1
ZT/ZV/IA3 037 89 59 42 922 3 Interpolated
ZH/ZU/IA4 049 89 59 42 763 4 Interpolated
Predator Air Handling Z1/ZW/IA4 049 89 59 42 762 4 20 Interpolated
Units (Short) ZR/ZK/IA4 049 89 59 42 880 4 Interpolated
ZT/ZV/IA4 049 89 59 42 960 4 Interpolated
ZH/ZU/JAS 061 89 59 42 772 5 Interpolated
ZJ/ZW/JA5 061 89 59 42 1,0701 5 4
ZR/ZK/JAS 061 89 59 42 1,070 5 2
ZT/ZV/IA5 061 89 59 42 968 ) Extrapolated
XP/XA/J06 078 89 59 42 970" 6.5 7
ZF/Z5/)06 078 89 59 42 1,0901 6.5 10
ZH/zU/J06 078 89 59 42 910 6.5 Interpolated
71/ZW/106 078 89 59 51 1030 6.5 Interpolated
ZR/ZK/J06 078 89 59 51 1,0601 6.5 5
ZF/Z5/107 090 89 59 42 860 7.5 Interpolated
ZH/zU/J07 090 89 59 42 910 7.5 Interpolated
Z1/ZW/107 090 89 59 51 1,081 7.5 Interpolated
XP/XA/J07 090 89 59 42 920 J-5 Interpolated
ZR/ZK/J07 090 89 59 42 965 7.5 Ao Interpolated
ZF/Z5/108 102 89 59 51 1,020 8.5 Interpolated
ZH/zU/J08 102 89 59 51 1,030 8.5 Interpolated
Preda‘tor Air Handling 2J/ZW/108 102 89 59 51 1,060 8.5 Interpolated
Units (Standard)
XP/XA/108 102 89 59 51 1,135 8.5 Interpolated
ZR/ZK/J08 102 89 59 51 1,200 8.5 Interpolated
ZF/Z25/110 120 89 59 51 1,060 10 Interpolated
ZH/ZU/J10 120 89 59 51 1,090 10 Interpolated
Z)/ZW/J10 120 89 59 51 1,070 10 Interpolated
XP/XA/J10 120 89 59 51 1,135 10 Interpolated
ZR/ZK/J10 120 89 59 51 1,200 10 Interpolated
ZF/25/)12 150 119.5 59 51 1,253 125 Interpolated
ZH/ZU/J12 150 119.5 59 51 1,250l 12.5 11
XP/XA/J12 150 119.5 59 51 1,5101 12.5 2.0 8
2)/ZW/J12 150 119.5 59 51 1,5701 125 9
ZR/ZK/J12 150 119.5 59 51 1,6001 12.5 6
ZT/ZV 120 119.5 59 51 1,470l 10 12
Predator Air Handling ZT/ZV 078 119.5 59 51 1,550 6.5 Interpolated
Units (Ultra High ZT/ZV 090 119.5 59 51 1,550 7.5 2.0 Interpolated
Efficiency) ZT/2v 102 119.5 59 51 1,575 8.5 Interpolated
ZT/ZV 150 119.5 59 51 1,6801 12.5 13

1. Weights listed for tested units are actual, not approximate weights. The weights listed for interpolated units are maximum weights, assuming all optional
features are included. Optional features are summarized in the table below.
2. Model numbers are generalized for each type of unit and the associated BTU tonnage that the unit can output.

Unit Accessory Operating Weight (Ibs.)
Economizer 85
Power Exhaust 35
Electric Heat 49
Gas Heat 110
Variable Frequency Drive 30

1. Weight given is for the maximum electric heater size available.
2. Weight given for the gas heater is for the maximum number of tube heat exchangers available (8 tube).

3. Weight includes mounting hardware, controls and manual bypass option.

03/08/2021 OSP-0213

Page 4 of 61



5167821-YTG-L-1218

Nomenclature

3-12.5 Ton York® Model Number Nomenclature

1z|T[o37]|cloo |A[2[A[1][A[A]A]1[A] 1]
|

Product Category

Z = AIC, Single Pkg., R-410A

Product Identifier

T = Pkg AC Ultra High Eff

Nominal Cooling Capacity

037 =3 Ton
049 =4 Ton
061=5Ton
078 =6.5 Ton
090 =7.5Ton
102 =8.5 Ton
120 =10 Ton
150 =12.5 Ton

Heat Type

C = Cooling Only
E = Electric Heat

Two Stage Natural Gas Heat Options

Product Generation

1 = First Generation
2 = Second Generation

Cabinet Options

A = Std Cabinet
E = SSD (SST Drain Pan)
R = Reverse Drain Pan

Additional Options

1 = STD Throwaway Filter

2 = 2" Pleated Filters (Mefv. 8)
3 = 4" Pleated Filters (Merv 13)
4 = Coil Guard (CG),STD Filter
5 = 2" Pleated Fijlfer,CG

6 = 4" Pleated Filter,CG

Refrigeration

= Standard Refrigeration
ECC (E-Coat Cond Coil)
(I:‘< EEC (E-Coat Evap Coil)
EH (Reheat)

N = 2 Stage Gas Aluminized Steel
S = 2 Stage Gas Stainless Steel

P = 2 Stage Low Nox Gas Aluminized Steel’
Q =2 Stage Low Nox Gas Stainless Steel

1. Low Nox Gas is only available on the 3 -

5 Ton Units

H=ECC, EEC, REH

Heat Capacity

00 = Cooling Only

Gas MBH Input (Unit Size Allowed)

06 = 60 MBH Input (037, 049)

16 = 160 MBH Input (061)

08 = 80 MBH Input (037, 049, 061)
12 = 120 MBH Input (037, 049, 061)

-

-

18 = 180 MBH Input (078,090,102,120,150)
24 =240 MBH Input (078,090,102,120,150)

N

Electric Heat (Unit Size Allowed)

03 =3 KW (037)
06 =6 KW (037,049,064

15 = 16KW (037,049,061)

20 = 20 KW/(049,08%)

547154 KW (1203150)

18 =18 KW, (078,090,102,120,‘ 50)

24 = 24 KW\(078,0907102;420,150)
36 = 36 KW((078,090,102,120,150)

09 =9 KW (037,049,061 ,@,090.102)

Blower Option

E = VFD/VAV Std Static
G=VFDIVAV High Static
H = VFD/VAV w/Bypass Std Static

P = VFD IntelliSpeed Std Static

R = VFD IntelliSpeed High Static
S = VFD w/Byp IntelliSp Std Static
U = VFD w/Byp IntelliSp Hi Static

K = VFD/VAV w/Bypass High Static

Voltage

2 =208/230-3-60
4 = 460-3-60
5 = 575-3-60°

3. 575V Available in 3 - 5 Ton Only.

J=ECC, HGBP
L = ECC, REH
M = EEC, HGBP
P = EEC, REH
I; Controls Option

A = Stand Alone Smart Equipment™
C = BACnet MSTP,Mdbs,N2 COM Card
D = CPC Control, DFS, APS

F = Fault Detection Diagnostics

G = Novar UCM Ctrl, DFS, APS

H = Hnywll Excel 10 CTRL,DFS,APS
M = Verasys Single Zone

N = Verasys Change Over Bypass

P = Verasys VAV

Q = Verasys Single Zone W/FDD

R = Verasys COBP W/FDD

T = Verasys VAV W/FDD

Sensors

A = No Sensors

B = PHM (Phase Monitor)

C = DFS (Dirty Filter Switch)

D = SSD (Supply Air Smoke DET)
E = RSD (Return Air Smoke DET)
F = PHM,DFS

G =PHM,SSD

H =PHM,RSD

J =DFS,SSD

K =DFS,RSD

L =SSD,RSD

M = PHM,DFS,SSD

N = PHM,DFS,RSD

P = PHM,SSD,RSD

Q = DFS,SSD,RSD

R = PHM,DFS,SSD,RSD

Service Options

1 = No Service Options

2 =DSC (Disconnect Switch)

3 =NCO (Non-PWR Conv. Outlet)
4 = PCO (Powered Conv. Outlet)
5=DSC,NCO

6 =DSC,PCO

Outdoor Air Option

A = No Economizer

B = Economizer w/Barometric RLF
D = Economizer w/Power EXH

H = Motorized Damper

Johnson Controls Ducted Systems

03/08/2021

OSP-0213

Page 5 of 61



528461-JTG-D-1210

Nomenclature

6.5-12.5 Ton Series 10 Model Number Nomenclature

Nominal Cooling Capacity

J06 = 6.5 Ton
J07 =7.5 Ton
J08 =8.5Ton
J10=10.0 Ton
J12=12.5Ton

Product Category

X = HP, Single Pkg., R-410A

Product Identifier

P=11.0 EER HP

Heat Type and Nominal Heat Capacity

C00 = Cooling Only. No heat installed

Electric Heat Options

E09 = 9 KW

E18 = 18 KW
E24 =24 KW
E36 = 36 KW
E54 = 54 KW

Airflow

A = Std. Motor
B = Std. Motor/Econo./Barometric Relief (Downflow
Only)
C = Std. Motor/Econo./Power Exhaust (Downflow Only)
D = Std. Motor/Motorized Damper (Downflow Only)
E = Std. Motor/Horizontal Economizer (No Baro.)
F = Std. Motor/Slab Econo./Power Exhaust
(Downflow Only)
G = Std. Motor/Slab Econo./Barometric Relief
(Downflow Only)
N = Hi Static
P = Hi Static/Econo./Barometric Relief
(Downflow Only)
Q = Hi Static/Econo./Power Exhaust
(Downflow Only)
R = Hi Static/Motorized Damper (Downflow Only)
S = Hi Static/Horizontal Economizer (|
T = Hi Static/Slab Econo./Power Ex|
(Downflow Only)
U = Hi Static/Slab Ec: etri
(Downflow onl

Voltage

2 =208/230-3-60
4 = 460-3-60
5 =575-3-60

| Jo7 [X]|P|coo|Al2|A]AA|5[0[1]2]4]A]
— |

Product Style

A =Style A
B = Style B
C=StyleC

Configuration Options (not required for all units)

These four digits will not be assigned until a quote is requested, or an order placed.

SS Drain Pan

CPC Controller, DFS, APS

Johnson Controller UNT 1126 (N2 protocol), DFS, AP
Johnson Controller Metasys FEC-2611 (BACnet MS/TP
Honeywell Controller, DFS, APS

Novar Controller, DFS, APS

Simplicity IntelliComfort Controller

col),

Simplicity IntelliComfort Controller
2" Pleated filters

4" Pleated filters

BAS Ready Economizer (2-1? .D.C. Actuator
Any Combination of Additionag&ons that Do)

[TTIITTITT]

out a controller)

ave an Option Code Pre-assigned

OAS, DFS, APS

N

Product Generation
5 = Fifth Generation

a ! ’Additional Options

A

AB = Phase Monitor
AC = Coil Guaidu

AD = Dinmv
AE = Phase Monit oil Guard

AA = None 1

TJ = Technicoat Evaporator Coil

AF = Ph Monitor & Ditty Filter Switch
AG = Coil m& Dirty Filter Switch
AH =‘Phase ifor, Coil Guard & Dirty Filter Switch

4

RC = Coil Guard, Shipping Bag & American Flag
C TA = Technicoat Condenser Coil

TS = Technicoat Evaporator & Condenser Coils

! @ d option combination is not listed above, ZZ will be assigned and configuration options will be
. d in digits 15-18.

stallation Options

[A = No Options Installed

B = Option 1

C = Option 2

D = Options 1 & 2

E = Option 3

F = Option 4

G = Options 1 &3

H = Options 1 & 4

J =Options 1,2& 3
K= Options 1, 2, & 4
L = Options 1,3 & 4
M =Options 1, 2, 3, & 4
N = Options 2 & 3

P = Options 2 & 4

Q = Options 2, 3, & 4
R = Options 3 & 4

S = Option 5

T =Options 1 &5

U =Options 1, 3, &5
V =Options 1, 4, &5
W = Options 1, 3,4, &5
X = Options 3 & 5

Y = Options 4 & 5

Z = Options 3,4 & 5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

Johnson Controls Unitary Products
03/08/2021

OSP-0213

Page 6 of 61



528200-JTG-H-1210

Nomenclature
6.5-12.5 Ton Series 10 Model Number Nomenclature
[Jo7 [Z]|F[N10|A]2]A]AA[5[0]1]2]4]A]
Nominal Cooling Capacity Product Style
A =Style A
J06 =6.5 Ton B=StyleB
J07 =7.5Ton C=StyleC
J08 = 8.5 Ton
J1 0.0 Ton
J12=125Ton Configuration Options (not required for all units)
These four digits will not be assigned until a quote is requested, or an order placed.
| SS Drain Pan
Product Category || CPC Controller, DFS, APS
- | Johnson Controller UNT 1126 (N2 protocol), DFS, APS
2= AC, Single Pkg., R-410A || Johnson Controller Metasys FEC-2611 (BACnet MS/TP protocol), SAS, RAS, OAS, OFS, APS

Honeywell Controller, DFS, APS

Novar Controller, DFS, APS

Simplicity IntelliComfort Controller

F=11.2+EERA/C Simplicity IntelliComfort Controller w/ModLinc

Commercial Comfort System (CCS) Rtu Controller

Hot Gas Bypass (Standard on VAV, Optional on CV)
Variable Air Volume, VFD (not available with factory install

Product Identifier —

Heat Type and Nominal Heat Capacity S

An Variable Air Volume, VFD with ModLINC (i installed BAS options)
C00 = Cooling Only. No heat installed | | Variable Air Volume, VFD and Manual B s (not avail installed BAS options)
| | Variable Air Volume, VFD and Manual @ass with ModLIN ot available with factory installed BAS options)
Gas Heat Options | | Variable Air Volume, VFD (BAS ready)

Variable Air Volume, VFD and Manual Byj (BAS ready’
N10 = 100 MBH Output Aluminized Steel Variable Air Volume, VFD Ready (for customwn ide

o d installed drive)
N15 = 150 MBH Output Aluminized Steel —

00 MBH Output Aluminized Steel | | Variable Air Volume, VFD Ready with ModLINC (for customer-provided, field-installed drive)
S$10 = 100 MBH Output Stainless Steel 2" Pleated filters o
S$15 = 150 MBH Output Stainless Steel = |

4" Pleated filters

$20 =200 MBH Output Stainless Steel —
BAS Ready Economizef(2-10/V.D.C.'Actuator without a controller)

Electric Heat Options | | Double Wall iﬂ
Any Combination of Additiol s that Don’t Have an Option Code Pre-assigned
E09 =9 KW A
E18 = 18 KW I'4
E24 = 24 KW
E36 =36 KW
E54 = 54 KW
Additional Options
Airflow
AG = Coil Guard & Dirty Filter Switch
A = Std. Motor AH = Phase Monitor, Coil Guard & Dirty Filter Switch
B = Std. Motor/Econo./Barometric Relief (Downflow RC = Coil Guard, Shipping Bag & American Flag
Only) TA= Techn_lcoat Condenser Co_ll
C = Std. Motor/Econo./Power Exhaust (Downflow Only) X ¢ 3 | TJ= TeChanOEt Evaporator Coil _
D = Std. Motor/Motorized Damper (Downflow Only) 4 F = Phase Monitor & Dirty Filter Switch TS = Technicoat Evaporator & Condenser Coils
Std. Motor/Horizontal Economizer (No Baro.) I :
F = Std. Motor/Slab Econo./Power Exhaust If desired option combination is not listed above, ZZ will be assigned and configuration options will be
(Downflow Only) ( located in digits 15-18.

G = Std. Motor/Slab Econo./Barometric Relief
(Downflow Only)

N = Hi Static

P = Hi Static/Econo./Barometric Relief
(Downflow Only)

nstallation Options

A = No Options Installed

Q = Hi Static/Econo./Power Exhaust B = Option 1
(Downflow Only) C = Option 2
D = Options 1 & 2
E = Option 3
F = Option 4

G = Options 1 &3

H = Options 1 & 4
J=0Options 1,2 & 3

K =Options 1,2, &4

L = Options 1,3 & 4

M = Options 1, 2, 3, & 4
Voltage N = Options 2 & 3

P = Options 2 & 4

2 =208/230-3-60 Q= Options 2, 3, & 4

4 = 460-3-60 R = Options 3 & 4

5 =575-3-60 S = Option 5

T =Options 1 &5

U = Options 1, 3, &5

V =Options 1, 4, &5
W = Options 1, 3,4, &5
X = Options 3 &5

Y = Options 4 & 5
Z=0Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

Johnson Controls Unitary Products 3
03/08/2021 OSP-0213 Page 7 of 61



528195-YTG-A-0609

Nomenclature
6.5-12.5 Ton York® Model Number Nomenclature
[X|P[o9o[coo|Al2]A]lAA[3]0[1]2]4]A]|
I I
Product Category Product Style

X = HP, Single Pkg., R-410A A=Style A

B=StyleB

C=StyleC

Product Identifier

P=11.0EERHP

Nominal Cooling Capacity

078 = 6.5 Ton

120 =10.0 Ton
150 = 12.5 Ton

Heat Type and Nominal Heat Capacity

CO00 = Cooling Only. No heat installed

Electric Heat Options

E09 = 9 KW

E18 = 18 KW
E24 =24 KW
E36 =36 KW
E54 = 54 KW

Airflow

A = Std. Motor

B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

D = Std. Motor/Motorized Damper (Downflow Only)

E = Std. Motor/Horizontal Economizer (No Baro.)

F = Std. Motor/Slab Econo./Power Exhaust
(Downflow Only)

G = Std. Motor/Slab Econo./Barometric Relief
(Downflow Only)

N = Hi Static

P = Hi Static/Econo./Barometric Relief
(Downflow Only)

Q = Hi Static/Econo./Power Exhaus
(Downflow Only)

R = Hi Static/Motorized Damper (Do nl

S = Hi Static/Horizontal Economizer ( 0.)

T = Hi Static/Slab Econo./Power Exhaust
(Downflow Only)

U = Hi Static/Slab Econo./Ba

(Downflow only)

Voltage

Configuration Options (not required for all units)

These four digits will not be assigned until a quote is requested, or an order placed.

S8 Drain Pan

CPC Controller, DFS, APS
Johnson Controller, DFS, APS
Honeywell Controller, DFS, APS
Novar Controller, DFS, APS
Simplicity IntelliComfort Controller

Simplicity IntelliComfort Controller w/Simplici
2" Pleated filters

BAS Ready Economizer (2-
Shipping Bag

[TTTTTTTTI

Product Generation

3 = Third Generation
4= Fourth Generatig
=

W Additional Options

AA = None P
AB= Phasq,MonMr ¢

AC = d ay
A;mwitch

AE = Phase Monitor, & Coil Guard

AFS)Phase Monitor 8 Dirty Filter Switch

_INAG = uard & Dirty Filter Switch

= Phawonilor, Coil Guard & Dirty Filter Switch

TJ = Technicoat Evaporator Coil

RC = Coil Guard, Shipping Bag & American Flag
TA = Technicoat Condenser Coil

TS = Technicoat Evaporator & Condenser Coils

ZZ =|f desired option combination is not listed above, ZZ will be assigned and configuration options will be

ocated in digits 15-18.

Installation Options

2 =208/230-3-60
4 = 460-3-60
5 = 575-3-60

A =No Options Installed
B = Option 1

C = Option 2

D = Options 1 & 2

E = Option 3

F = Option 4

G =Options 1& 3

H = Options 1 & 4
J=0Options 1,28& 3

K = Options 1, 2, & 4

L = Options 1,3 &4

M = Options 1, 2, 3, &4
N = Options 2 & 3

P = Options 2 & 4

Q = Options 2, 3, & 4

R = Options 3 & 4

S = Option 5

T = Options 1 & 5

U = Options 1, 3, &5

V = Options 1, 4, &5
W = Options 1, 3,4, &5
X = Options 3 &5

Y = Options 4 & 5

Z = Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

Johnson Controls Unitary Products
03/08/2021

OSP-0213

Page 8 of 61



528194-YTG-D-0610

Nomenclature

6.5-12.5 Ton York® Model Number Nomenclature

Product Category

Z =A/C, Single Pkg., R-410A

Product Identifier

F=112+EERA/C
R = Reheat

Nominal Cooling Capacity

[z|F[o90 [N10[A[2[A]AAT4]0[1]2]4]A]
|

Product Style

A=Style A
B=StyleB
C=StyleC

Configuration Options (not required for all units)
These four digits will not be assigned until a quote is requested, or an order placed.

8S Drain Pan

CPC Controller, DFS, APS

Johnson Controller UNT 1126 (N2 protocol), DFS, APS
Honeywell Controller, DFS, APS

Novar Controller, DFS, APS

Simplicity IntelliComfort Controller

078 = 6.5 Ton Simplicity IntelliComfort Controller w/Simplicity®LINC
090 =7.5Ton .

102 = 8.5 Ton York Commercial Comfort System (YCCS) Rtu Controller
120 =10.0 Ton | | Hot Gas Bypass (Standard on VAV, Optional on CV)

150 =12.5 Ton

Variable Air Volume, VFD (not available with factory inst:
Variable Air Volume, VFD with Simplicity®LINC (not i ry in:
Variable Air Volume, VFD and Manual Bypass

(not available with factory installe

Variable Air Volume, VFD and May
(not available with factory installed BAS options)

Variable Air Volume, VFD (BAS teady)

Variable Air Volume, VFD and Manual Bypass (BAS rf
Variable Air Volume, VFD Ready (for'Ymer—pr

N15 = 150 MBH Output Aluminized Steel Variable Air Volume, VFD Ready with Sil LINC
N20 = 200 MBH Output Aluminized Steel (for customer-provided, field-installed drive)
S10 = 100 MBH Output Stainless Steel 1 2" Pleated filters o

$15 = 150 MBH Output Stainless Steel —
S§20 = 200 MBH Output Stainless Steel

led BA! tions)

Heat Type and Nominal Heat Capacity

CO00 = Cooling Only. No heat installed

Gas Heat Options

N10 = 100 MBH Output Aluminized Steel d, field-installed drive)

4" Pleated filterg4ZF Only)
BAS Ready Economizér (2-10 V.D.C. Actuator without a Controller)

Any/€ombination of

Options that Don’'t Have an Option Code Pre-assigned

Electric Heat Options

E09 = 9 KW Y
E18 = 18 KW Product Generation 1
E24 =24 KW Y Y& ¢
E36 = 36 KW en
E54 = 54 KW
PN
3 | ) v Additional Options
Airflow AG = Coil Guard & Dirty Filter Switch
A = Std. Motor e Monitor AH = th'ise Monitor,' Cc‘>il Guard & Dirt){ Filter Switch
B = Std. Motor/Econo./Barometric Relief (Downflow gard ! 'IR'AC\; —1(_)o|IhG_uard.CSh|;;p|ng ng f‘ American Flag
Only) F%Ier lStwnghc il K ech n_lcoa:E ons enferC °'||
C = Std. Motor/Econo./Power Exhaust (Downflow Only) o o I o} P L g echnicoat Evaporator ol "
D = Std. Motor/Motorized Damper (Downflow Only) hase Monitor & Dirty Filter Switch TS = Technicoat Evaporator & Condenser Coils
E = Std. Motor/Horizontal Economizer (No Baro. ~
F = Std. Motor/Slab Econo./Power Exh<aus( ) g ZZ = If desired oplion combination is not listed above, ZZ will be assigned and configuration options will be
(Downflow Only) located in digits 15-18.

G = Std. Motor/Slab Econo./Baroi ic Relief

(Downflow Only)
N = Hi Static Installation Options
P = Hi Static/Econo./Barometric Reli
(Downflow Only) A = No Options Installed
Q = Hi Static/Econo./Power B = Option 1
(Downflow Only) C = Option 2
D = Options 1 & 2
Option 3
F = Option 4

G = Options 1 & 3

H = Options 1 & 4

J ptions 1,2 &3

K =Options 1, 2, &4

L = Options 1,3 & 4

M =Options 1, 2, 3, &4
Options 2 & 3

P =Options 2 & 4
Q=Options 2, 3, & 4

R = Options 3 & 4
Option 5

T =Options 1 &5

U =Options 1, 3, &5

V =Options 1, 4, &5
W = Options 1, 3,4, &5
X = Options 3 & 5

Y = Options 4 & 5

Z =Options 3,4 &5

Voltage

2 =208/230-3-60
4 = 460-3-60
5 = 575-3-60

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 =Pwr'd Conv. Outlet

Johnson Controls Unitary Products 3
03/08/2021 OSP-0213 Page 9 of 61



5167795-YTG-L-0818

Nomenclature

3-12.5 Ton York® Model Number Nomenclature

Product Category

Z = AIC, Single Pkg., R-410A

Product Identifier

H = Standard(3-5)/High(6-12) Eff
J = Pkg AC High Eff
R = Standard Eff Reheat

Nominal Cooling Capacity

037 =3 Ton

102 = 8:5 Ton
120 =10.0 Ton
150 = 12.5 Ton

Heat Type

C = Cooling Only
E = Electric Heat

Single Stage Natural Gas Heat Options

1 Stage Gas Aluminized Steel

1 Stage Gas Stainless Steel

1 Stage Low Nox Gas Aluminized Steel
1 Stage Low Nox Gas Stainless Steel

H
J
K
L

Two Stage Natural Gas Heat Options

N = 2 Stage Gas Aluminized Steel
S = 2 Stage Gas Stainless Steel
P =2 Stage Low Nox Gas Aluminized Steel

lzIH| o090 [c|oo|A]2]A]1[A[A]A]1]A] 2]
I [

Product Generation

1 = First Generation
2 = Second Generation

Cabinet Options

A = Std Cabinet
E = SSD (SST Drain Pan)
R = Reverse Drain Pan

Additional Options

1 = STD Throwaway Filter

3 = 4" Pleated Filte
4 = Coil Guard (CG),
5 = 2" Pleated Filter,CG
6 = 4" Pleated Filte,

2 = 2" Pleated Filters (Merv 8

Controls Option

PC Control, DFS, APS
A F = Fault Detection Diagnostics
< G = Novar UCM Ctrl, DFS, APS

A =Stand Alone Smart Equipment™
ACnet MSTP,Mdbs,N2 COM Card

Q = 2 Stage Low Nox Gas Stainless Steel < v H = Hnywll Excel 10 CTRL,DFS,APS
f\“ M = Verasys Single Zone
Heat Capacity & ‘ '; f://:,:::ﬁ \?X@nge Over Bypass
00 = Cooling Only . H by Q = Verasys Single Zone W/FDD
== 8 R = Verasys COBP W/FDD
Gas MBH Input (Unit Size Allowed) A4 T = Verasys VAV.W/FDD
06 = 60 MBH Input (037, 049)
08 =80 MBH Input (037, 049,
12 =120 MBH Input (037, Sensors
16 = 160 MBH Input (061) A = No Sensors
B = PHM (Phase Monitor)
C = DFS (Dirty Filter Switch)
D = SSD (Supply Air Smoke DET)
E =RSD (Return Air Smoke DET)
F = PHM,DFS
G =PHM,SSD
H = PHM,RSD
J =DFS,SSD
K = DFS,RSD
L =SSD,RSD
M = PHM,DFS,SSD
078,090,102,120,150) N = PHM,DFS,RSD
(120,150) P = PHM,SSD,RSD
Q =DFS,SSD,RSD
R = PHM,DFS,SSD,RSD
Blower Option
K Service Options
B = Standard Static
D = High Static . 1= No Service Options
E = VFD/VAV Std Static 2 = DSC (Disconnect Switch)
G = VFD/VAV High Static ) 3= NCO (Non-PWR Conv. Outlet)
H = VFD/VAV w/Bypass Std Static 4= PCO (Powered Conv. Outlet)
K = VFD/VAV w/Bypass High Static 5=DSC,NCO
L = VFD/VAV Customer Std Static 6 = DSC,PCO
N = VFD/VAV Customer High Static
P = VFD IntelliSpeed Std Static
R = VFD IntelliSpeed High Static Outdoor Air Option
S = VFD w/Byp IntelliSp Std Static
U = VFD w/Byp IntelliSp Hi Static A = No Economizer
V = VFD Cust IntelliSp Std Static B = Economizer w/Barometric RLF
X = VFD Cust IntelliSp Hi Static D = Economizer w/Power EXH
H = Motorized Damper
Voltage
2 =208/230-3-60
4 = 460-3-60
5 =575-3-60
4 Johnson Controls Ducted Systems
03/08/2021 OSP-0213 Page 10 of 61



5167821-YTG-J-0518

Nomenclature

3-5 Ton York® Model Number Nomenclature
[z|T|o37[c|oo|A[2]|A]1]|A[A]A]1|A]1]
]

Product Generation

Product Category
1 = First Generation

2 = Second Generation

Z = A/C, Single Pkg., R-410A

Product Identifier Cabinet Options

A = Std Cabinet
E = SSD (SST Drain Pan)

T = Pkg AC Ultra High Eff

Nominal Cooling Capacity

037 =3 Ton
049 =4 Ton
061 =15 Ton

Heat Type

C = Cooling Only
E = Electric Heat

L2

Two Stage Natural Gas Heat Options
N = 2 Stage Gas Aluminized Steel

=IStandard Refrigeration

S = 2 Stage Gas Stainless Steel Z 3 .
P = 2 Stage Low Nox Gas Aluminized Steel o (B; _ E(E;g EE_ggzi (E:\?Qs (():gil:))
Q = 2 Stage Low Nox Gas Stainless Steel 3 F = ECC EEC

Heat Capacity ’ ‘l

Controls Option

- H P
00 = Cooling Only O\ ‘ i A = Stand Alone Smart Equipment™
Gas MBH Input (Unit Size Allowed) r'\v C = BACnet MSTP,Mdbs,N2 COM Card
7 D = CPC Control, DFS, APS
06 =60 MBH Input (037, 049) 9 ‘o F = Fault Detection Diagnostics
08 = 80 MBH Input (037, 049, 061) ) I N G = Novar UCM Ctrl, DFS, APS

12 =120 MBH Input (037, 049, 061)

H = Hnywll Excel 10 CTRL,DFS,APS
16 = 160 MBH Input (061)

M = Verasys Single Zone

K = Verasys Change Over Bypass
L = Verasys VAV

Q = Verasys Single Zone W/FDD
R =Verasys COBP W/FDD

T = Verasys VAV W/FDD

Electric Heat (Unit Size

03 = 3 KW (037)
06 = 6 KW (037,049,061)

Sensors

A = No Sensors

B = PHM (Phase Monitor)

C = DFS (Dirty Filter Switch)

D = SSD (Supply Air Smoke DET)

IntelliSpeed High Static E - E,f,a g{,féum Air Smoke DET)
D elliSp Std Static G = PHM SSD

FD w/Byp IntelliSp Hi Static H= PHM,’RSD

J =DFS,SSD

K =DFS,RSD

L = SSD,RSD

2 = 208/230-3-60 M = PHM,DFS,SSD

4 = 460-3-60 N = PHM,DFS,RSD

5 =575-3-60 P = PHM,SSD,RSD

Q = DFS,SSD,RSD

R = PHM,DFS,SSD,RSD

Voltage

Qutdoor Air Option

A = No Economizer Service Options
B = Economizer w/Barometric RLF
D = Economizer w/Power EXH 1 = No Service Options

H = Motorized Damper 2 = DSC (Disconnect Switch)

3 =NCO (Non-PWR Conv. Outlet)
4 = PCO (Powered Conv. Outlet)
5=DSC,NCO

6 =DSC,PCO

Johnson Controls Ducted Systems 3
03/08/2021 OSP-0213 Page 11 of 61



5167821-YTG-J-0518

Prior Nomenclature

3-5 Ton York® Model Number Nomenclature
For Units Produced Before 2-01-2016

|z|T]061|NO5|A[2|A]lzZ[7[0[1]2]4[A]
I

Product Category

Z = AC, Single Pkg., R-410A

Product Identifier

T = 18 SEER Ultra High Eff. A/IC

Nominal Cooling Capacity

037 =3 Ton
049 =4 Ton
061 =5 Ton

Heat Type and Nominal Heat Capacity

C00 = Cooling Only. No heat installed

Two Stage Natural Gas Heat Options

NO5 = 49 MBH Output Aluminized Steel,
Two Stage (037, 049)

NO7 = 65 MBH Output Aluminized Steel,
Two Stage (037, 049, 061)

NO9 = 97 MBH Output Aluminized Steel,
Two Stage (037, 049, 061)

N13 = 129 MBH Output Aluminized Steel,
Two Stage (061)

S05 = 49 MBH Output Stainless Steel,
Two Stage (037, 049)

S07 = 65 MBH Output Stainless Steel,
Two Stage (037, 049, 061)

S09 = 97 MBH Output Stainless Steel,
Two Stage (037, 049, 061)

S$13 =129 MBH Output Stainless Steel,
Two Stage (061)

Electric Heat Options

E03 = 3 KW (037)
E06 = 6 KW (037, 049, 061)
E08 = 9 KW (037, 049, 061)
E15 = 15 KW (037, 049, 061)
E20 = 20 KW (049, 061)

E23 = 24 KW (061)

Product Style

A=Style A
B =StyleB
C=StyleC

Configuration Options (not required for all units)

S8 Drain Pan
CPC Controller, DFS, APS

Novar Controller, DFS, APS

[TTTTTI

York Commercial Comfort S,
2" Pleated Filters, MERV,
4" Pleated Filters, MER\DS
BAS Ready Unit with Ec:
Phase Monitor

Coil Guard

Dirty Filter Switch_
Shipping Bég
AmericanElag

Technicoa enser Coil
M)at oil

E-Coat Cony enser Caoil
|"| 'ExCoat Evaparator Coil
A ;

[

[

[TT1]

Honeywell Controller, DFS, APS

York Commercial Comfort System (YCCS) Rtu
Simplicity®Smart Equipment w/Comm Card
Fault Detection and Diagnostics (FDD)

mizer
s

Vo

tion of Additional Options that Don’t Have an Option Code Pre-assigned

-’P oduct-Genegation

/ = Seventh Generation

Additional Options

located in digits 15-18.

= If desired option combination is not listed above, ZZ will be assigned and configuration options will be

Installation Options

Voltage

2 =208/230-3-60
4 = 460-3-60
5 =575-3-60

A = No Options Installed
B = Option 1

C = Option 2

D = Options 1 & 2

E = Option 3

F = Option 4

G = Options 1 &3

Airflow

H = Options 1 & 4
J =Options 1,2& 3
K =Options 1, 2, & 4

A = Std. Motor
D = Std. Motor/Motorized Damper (Downflow Only)
H = Std Motor/Low Leak Econ/Barometric Relief (Downflow
& Horizontal End Return Only)
J =Std Motor/Low Leak Econ/Power Exhaust (Downflow
& Horizontal End Return Only)
N = Hi Static
R = Hi Static/Motorized Damper (Downflow Only)
V = Hi Static Mtr/Low Leak Econ/Barometric Relief
(Downflow & Horizontal End Return Only)
W = Hi Static Mtr/Low Leak Econ/Power Exhaust
(Downflow & Horizontal End Return Only)

L = Options 1,3 & 4

M = Options 1, 2, 3, & 4
N = Options 2 & 3

P = Options 2 & 4

Q = Options 2, 3, & 4

R = Options 3 & 4

S = Option 5

T =Options 1 &5

U =Options 1, 3, &5

V =Options 1, 4, &5
W = Options 1, 3,4, &5
X = Options 3 & 5

Y = Options 4 & 5

Z = Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

03/08/2021

OSP-0213

Johnson Controls Ducted Systems
Page 12 of 61



528150-YTG-G-1210

Nomenclature
3-12.5 Ton York® Model Number Nomenclature
[z|H] 090 [N10[A[2]A]AA]5]0[1]2]4]A]
Product Category Product Style

Z = AIC, Single Pkg., R-410A

C=StyleC

Product Identifier

Configuration Options (not required for all units)

H=117-11.8 EER These four digits will not be assigned until a quote is requested, or an order placed.

J=122EER
R = Reheat | | SS Drain Pan
| | CPC Controller, DFS, APS
Nominal Cooling Capacity || sohnson Controller UNT 1126 (N2 protocol), DFS, APS
037 =3 Ton | | Honeywell Controller, DFS, APS
049 =4 Ton || Novar Controller, DFS, APS
g% - Sggrnon | | Simplicity IntelliComfort Controller
090 =7.5Ton | | Simplicity IntelliComfort Controller w/Simplicity®LINC
125 z 8550?2,, || York Commercial Comfort System (YCCS) Rtu Controller
150 = 12.5 Ton | | Hot Gas Bypass (Standard on VAV, Optional on CV)
Variable Air Volume, VFD (not available with factory i
Heat Type and Nominal Heat Capacity | _| Variable Air Volume, VFD with Simplicity®LINC ((
(Unit Size Allowed) Variable Air Volume, VFD and Man
C00 = Cooling Only. No heat installed (not available with factory insf

Variable Air Volume, VFD and Manual Bypass

(not available with factory ig(alled BAS option:
AO05 = 49 MBH Output Aluminized Steel, 1

Single Stage (037, 049) || Variable Air Volume, VFD (BASifeady)
A07 = 65 MBH Output Aluminized Steel, Variable Air Volume, VFD and al Bypass (B,

Single Stage (037, 049, 061)

Single Stage Natural Gas Heat Options

A09 = 97 MBH Output Aluminized Steel, Variable Air Volume, VFD Ready (for g"ne vided, field-installed drive)
Single Stage (037, 049, 061) Variable Air Volume, VFD Ready with Simplicity®LINC
A13 = 129 MBH Output Aluminized Steel, (for customer-provided, field-installed drive)
Single Stage (061) | 2" Pleated f”:i
B05 = 49 MBH Output Stainless Sleel —
05 utput Stainless Sleel, Vb orodsi

Single Stage (037, 049) |
B07 = 65 MBH Output Stainless Steel, BAS Rii‘ Em\/.D.C. Actuator without a Controller)
Single Stage (037, 049, 061) | . . . ) " assi
B09 = 97 MBH Output Stainless Steel, Al mbinatiol | Options that Don’t Have an Option Code Pre-assigned
Single Stage (037, 049, 061)
B13 = 129 MBH Output Stainless Steel,
Single Stage (061)

Two Stage Natural Gas Heat Options

NO5 = 49 MBH Output Aluminized Steel,
Two Stage (037, 049)

NO7 = 65 MBH Output Aluminized Steel, -
Two Stage (037, 049, 061) Additional Options

NO9 = 97 MBH Output Aluminized Steel; b4
Two Stage (037, 049, 061) = e AG = Coil Guard & Dirty Filter Switch

N13 = 129 MBH Output Aluminized Steel, AB =#hase Monitor AH = Phase Monitor, Coil Guard & Dirty Filter Switch
Two Stage (061) oil Guard RC = Coil Guard, Shipping Bag & American Flag

S05 = 49 MBH Output Stainless Sleel, = Dirty Filter Switch TA = Technicoat Condenser Coil
Two Stage (037, 049) p. Q AE = Phase Monitor & Coil Guard TJ = Technicoat Evaporator Coil

S07 = 65 MBH Output Stainless Steel, AF = Phase Monitor & Dirty Filter Switch TS = Technicoat Evaporator & Condenser Coils
Two Stage (037, 049, 06 D

S09 = 97 MBH Output Stainless Steel, 77 = If desired option combination is not listed above, ZZ will be assigned and configuration options will be
Two Stage (037, 049, Of located in digits 15-18.

S$13 = 129 MBH Output Stainle:

Two Stage (061)
N10 = 100 MBH Output Al

Options

Voltage A = No Options Installed
B ption 1

2 =208/230-3-60 C = Option 2

4 =460-3-60 D = Options 1 & 2

5 =575-3-60 Option 3

F = Option 4

G = Options 1 &3

H = Options 1 & 4
ptions 1,2 & 3
Options 1, 2, & 4
ptions 1,3 & 4
Options 1, 2, 3, & 4

age (0
BH Output Stainless Steel, "
p Stage (120, 150) Airflow

ectric Heat Options A = Std. Motor

B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

D = Std. Motor/Motorized Damper (Downflow Only)

E = Std. Motor/Horizontal Economizer (No Baro.)

F = Std. Motor/Slab Econo./Power Exhaust

E03 = 3 KW (037)
E06 = 6 KW (037, 049, 061)

E08 = 9 KW (037, 049, 061)

E09 = 9 KW (078, 090, 102)

E15 = 15 KW (037, 049, 061)

E18 = 18 KW (078, 090, 102, 120, 150)

N = Options 2 & 3
P = Options 2 & 4
Q

= Options 2, 3, &4
Options 3 & 4
Option 5

_ Downflow Only) N

E20 = 20 KW (049, 061) _ — T =Options 1 &5
4 KW (061) G= SI;d. Mgtor/glalb Econo./Barometric Relief Options 1,3, &5
4 KW (078, 090, 102, 120, 150) N= '(_" ‘é‘:’;lé’w nly) V = Options 1,4, &5

E36 = 36 KW (078, 090, 102, 120, 150)
E54 = 54 KW (120, 150)

W = Options 1, 3,4, &5
X =Options 3&5
Options 4 & 5
Z=0Options 3,4 &5

P = Hi Static/Econo./Barometric Relief
(Downflow Only)

Q = Hi Static/Econo./Power Exhaust
(Downflow Only)

R = Hi Static/Motorized Damper (Downflow Only)

S = Hi Static/Horizontal Economizer (No Baro.) Options

T = Hi Static/Slab Econo./Power Exhaust
(Downflow Only)

U = Hi Static/Slab Econo./Barometric Relief
(Downflow only)

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

4 Johnson Controls Unitary Products
03/08/2021 OSP-0213 Page 13 of 61



5167795-YTG-K-0518

Nomenclature

3-12.5 Ton York® Model Number Nomenclature

1z|H] o090 [c|oo |Al2]A[1]A]A[A[1]A]1]
I

Product Generation

Product Category

Z = AIC, Single Pkg., R-410A

Product Identifier

H = Pkg AC Mid Eff
J = Pkg AC High Eff
R = Pkg AC Reheat

Nominal Cooling Capacity

037 =3 Ton
049 =4 Ton
061 =5 Ton
078 =6.5 Ton
090 =7.5Ton
102 =8.5Ton
120 =10.0 Ton
150 =12.5 Ton

Heat Type

C = Cooling Only
E = Electric Heat

Single Stage Natural Gas Heat Options

=1 Stage Gas Aluminized Steel

=1 Stage Gas Stainless Steel

=1 Stage Low Nox Gas Aluminized Steel
=1

H
J
K
L Stage Low Nox Gas Stainless Steel

Two Stage Natural Gas Heat Options

N = 2 Stage Gas Aluminized Steel

S =2 Stage Gas Stainless Steel

P = 2 Stage Low Nox Gas Aluminized Steel
Q = 2 Stage Low Nox Gas Stainless Steel

Heat Capacity

00 = Cooling Only

1 = First Generation

Cabinet Options

A = Std Cabinet
E = SSD (SST Drain Pan)
R = Reverse Drain Pan

Additional Options

1 = STD Throwaway Filter

2 = 2" Pleated Filters (Merv 8)
3 = 4" Pleated Filters (Merv 13)
4 = Coil Guard (
5 = 2" Pleated Filter,
6 = 4" Pleated Filter,CG

(o]

Refrigeration

| | Controls Option

A = Stand Alone Smart Equipment™
C = BACnet MSTP,Mdbs,N2 COM Card
rJPC Control, DFS, APS
F = Fault Detection Diagnostics
1 . G = Novar UCM Ctrl, DFS, APS
< H = Hnywll Excel 10 CTRL,DFS,APS
M = Verasys Single Zone
N = Verasys Change Over Bypass
P = Verasys VAV

o Q = Verasys Single Zone W/FDD

R = Verasys COBP W/FDD
T = Verasys VAV W/FDD

Gas MBH Input (Unit Size All e
06 = 60 MBH Input (037, 049) S
08 = 80 MBH Input (037, 04! ensQ’y
12 =120 MBH Input (037, O A = No Sensors
16 =160 MBH Input (061) B = PHM (Phase Monitor)
C = DFS (Dirty Filter Switch)
D = SSD (Supply Air Smoke DET)
E = RSD (Return Air Smoke DET)
F = PHM,DFS
G =PHM,SSD
H = PHM,RSD
J =DFS,SSD
K = DFS,RSD
L = SSD,RSD
M = PHM,DFS,SSD
N = PHM,DFS,RSD
P = PHM,SSD,RSD
= 54 KW (120,150) Q =DFS,SSD,RSD
R = PHM,DFS,SSD,RSD
Blower Option Service Options
B = Standard Static 1 = No Service Options
D = High Static 2 = DSC (Disconnect Switch)
E = VFD/VAV Std Static 3= NCO (Non-PWR Conv. Outlet)
G = VFD/VAV High Static 4= PCO (Powered Conv. Outlet)
H = VFD/VAV w/Bypass Std Static 5=DSC,NCO
K = VFD/VAV w/Bypass High Static 6 = DSC,PCO
L = VFD/VAV Customer Std Static
N = VFD/VAV Customer High Static
P = VFD IntelliSpeed Std Static Outdoor Air Option
R = VFD IntelliSpeed High Static
S = VFD w/Byp IntelliSp Std Static A = No Economizer
U = VFD w/Byp IntelliSp Hi Static B = Economizer w/Barometric RLF
V = VFD Cust IntelliSp Std Static D = Economizer w/Power EXH
X = VFD Cust IntelliSp Hi Static H = Motorized Damper
Voltage
2 =208/230-3-60
4 = 460-3-60
5 =575-3-60
4 Johnson Controls Ducted Systems
03/08/2021 OSP-0213 Page 14 of 61



5167795-YTG-K-0518

Prior Nomenclature

3-12.5 Ton York® Model Number Nomenclature
For Units Produced Before 2-01-2016

Product Category

Z = A/C, Single Pkg., R-410A

Product Identifier

H=11.7-11.8 EER
J=122EER
R = Reheat

Nominal Cooling Capacity

037 =3 Ton
049 =4 Ton
061 =5 Ton
078 =6.5 Ton
090 =7.5Ton
102 =8.5Ton
120 =10.0 Ton
150 =12.5 Ton

Heat Type and Nominal Heat Capacity
(Unit Size Allowed)

C00 = Cooling Only. No heat installed

Single Stage Natural Gas Heat Options

AO05 = 49 MBH Output Aluminized Steel,
Single Stage (037, 049)

AQ7 =65 MBH Output Aluminized Steel,
Single Stage (037, 049, 061)

A09 = 97 MBH Output Aluminized Steel,
Single Stage (037, 049, 061)

A13 =129 MBH Output Aluminized Steel,
Single Stage (061)

B05 = 49 MBH Output Stainless Sleel,
Single Stage (037, 049)

B07 = 65 MBH Output Stainless Steel,
Single Stage (037, 049, 061)

B09 = 97 MBH Output Stainless Steel,
Single Stage (037, 049, 061)

B13 = 129 MBH Output Stainless Steel,
Single Stage (061)

|Zz|H] 090 [N10]A]2[A[AA]7]0[1]2]4]A]
I

Product Style

A =Style A
B =Style B
C=StyleC

Configuration Options (not required for all units)
These four digits will not be assigned until a quote is requested, or an order placed.

S8 Drain Pan

CPC Controller, DFS, APS
Honeywell Controller, DFS, APS
Novar Controller, DFS, APS

Fault Detection and Diagnostics (FDD)

[TTTTTTI

IntelliSpeed with VFD
IntelliSpeed, VFD and Manual Bypass

EEH |

Variable Air Volume, VFD an

Variable Air Volume, VFD Ready (
2" Pleated FiltersgMERYV 7

4" Pleated Fis, MERV"3

BAS Ready

[ TTT

|

Simplicity®Smart Equipment w/Comm Card (BACnet, N2, us)

York Commercial Comfort System (YCCS)
Hot Gas Bypass (Standard on VAV, Optional

IntelliSpeed, VFD Ready (fobustomer—provide
Variable Air Volume, VFD (nnﬁ:ilable with fa

nual Bypas:
(not available with factory instﬂ?ﬁlBtAS
for customer-provided, field-installed drive)

nomizer (2-10 V.D.C. Actuator without a Controller)

Any inal f Additional Options that Don’t Have an Option Code Pre-assigned

eld-installed drive)
installed BAS options)

ProductGeneration

S
L

Additional Options

Two Stage Natural Gas Heat Options

NO5 = 49 MBH Output Aluminized Steel,
Two Stage (037, 049)

NO7 = 65 MBH Output Aluminized Steel,
Two Stage (037, 049, 061)

NO09 = 97 MBH Output Aluminized [,
Two Stage (037, 049, 061)

N13 = 129 MBH Output Aluminiz
Two Stage (061)

S05 = 49 MBH Output Stainless Sleel,
Two Stage (037, 049)

S07 = 65 MBH Output Stai

Two Stage (037, 048

S09
S13
N1
078,0 )
N15 =150 Output Aluminized Steel,

(078, 090, 102, 120, 150)
tput Aluminized Steel,
20, 150)

S10 = 100 MBH Output Stainless Steel,
Two Stage (078, 090, 102)

S$15 = 150 MBH Output Stainless Steel,
Two Stage (078, 090, 102, 120, 150)

S$20 = 200 MBH Output Stainless Steel,
Two Stage (120, 150)

n WY o
AA = I\HL AG = Coil Guard & Dirty Filter Switch
AH = Phase Monitor, Coil Guard & Dirty Filter Switch

ase Monitor & Dirty Filter Switch

RC = Coil Guard, Shipping Bag & American Flag
TA = Technicoat Condenser Coil

TJ = Technicoat Evaporator Coil

TS = Technicoat Evaporator & Condenser Coils
EA = E-Coat Condenser Coil

EJ = E-Coat Evaporator Coil

ES = E-Coat Cond & Evap Coils

ZZ = If desired option combination is not listed above, ZZ will be assigned and configuration options will be

located in digits 15-18.

Installation Options

A = No Options Installed

Voltage B = Option 1
C = Option 2

2 =208/230-3-60 D = Options 1 & 2
4 = 460-3-60 E = Option 3
5 =575-3-60 F = Option 4

G = Options 1 & 3

Airflow

H = Options 1 & 4
J=0Options 1,2& 3

Electric Heat Options

E03 = 3 KW (037)
E06 = 6 KW (037, 049, 061)

E08 = 9 KW (037, 049, 061)

E09 = 9 KW (078, 090, 102)

E15 = 15 KW (037, 049, 061)

E18 = 18 KW (078, 090, 102, 120, 150)
E£20 = 20 KW (049, 061)

E£23 = 24 KW (061)

E24 = 24 KW (078, 090, 102, 120, 150)
E£36 = 36 KW (078, 090, 102, 120, 150)
E54 = 54 KW (120, 150)

A = Std. Motor
D = Std. Motor/Motorized Damper (Downflow Only)
H = Std Motor/Low Leak Econ/Barometric Relief (Downflow
& Horizontal End Return Only)
J =5Std Motor/Low Leak Econ/Power Exhaust (Downflow
& Horizontal End Return Only)
N = Hi Static
R = Hi Static/Motorized Damper (Downflow Only)
V = Hi Static Mtr/Low Leak Econ/Barometric Relief
(Downflow & Horizontal End Return Only)
W = Hi Static Mtr/Low Leak Econ/Power Exhaust
(Downflow & Horizontal End Return Only)

K = Options 1, 2, & 4

L = Options 1,3 & 4

M =Options 1, 2, 3, &4
N = Options 2 & 3

P = Options 2 & 4

Q = Options 2, 3, & 4

R = Options 3 & 4

S = Option 5

T = Options 1 & 5

U =Options 1,3, & 5

V =Options 1,4, & 5
W = Options 1, 3,4, &5
X = Options 3 & 5

Y = Options 4 & 5

Z =Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

Johnson Controls Ducted Systems
03/08/2021

OSP-0213

Page 15 of 61



528196-BTG-F-0211

Nomenclature

3-12.5 Ton Model Number Nomenclature

[z]u] -10 [N24[A[T[A]AA[5]0[1]2]4]A]

Product Category

Z = AIC, Single Pkg., R-410A

Product Identifier

U=11.7-11.8 EER
W =122EER
K = Reheat

Nominal Cooling Capacity

-07 =7.5Ton

-0 .5 Ton
0.0 Ton

-1
-12=12.5Ton

Heat Type and Nominal Heat Capacity
(Unit Size Allowed)

CO00 = Cooling Only. No heat installed

Single Stage Natural Gas Heat Options

A06 = 60 MBH Input Aluminized Steel,
Single Stage (-A3, -A4)

A08 = 80 MBH Input Aluminized Steel,
Single Stage (-A3, -A4, -A5)

A11 =120 MBH Input Aluminized Steel,
Single Stage (-A3, -A4, -A5)

A16 = 160 MBH Input Aluminized Steel,
Single Stage (-A5)

B06 = 60 MBH Input Stainless Sleel,
Single Stage (-A3, -A4)

B08 = 80 MBH Input Stainless Steel,
Single Stage (-A3, -A4, -A5)

B11 - 120 MBH Input Stainless Steel,
Single Stage (-A3, -A4, -A5)

B16 = 160 MBH Input Stainless Steel,
Single Stage (-A5)

Two Stage Natural Gas Heat Options

NO6 = 60 MBH Output Aluminized Steel,
Two Stage (-A3, -A4)

NO8 = 80 MBH Input Aluminized Steel,
Two Stage (-A3, -A4, -A5)

N11 =120 MBH Input Aluminized Steel,
Two Stage (-A3, -A4, -A5)

N16 = 160 MBH Input Aluminized Steel,
Two Stage (-A5)

S06 = 60 MBH Input Stainless Sleel,
Two Stage (-A3, -Ad)

S08 = 80 MBH Input Stainless Steel,
Two Stage (-A3, -A4, -

S11 - 120 MBH Input Stainle

Two Stage (-A3, -A4, -

=07, -08, -10, -12)
0 MBH Input Stainless Steel,
o Stage (-10, -12)

Product Style

A= Style A
tyle B
C=StyleC

Configuration Options (not required for all units)

These four digits will not be assigned until a quote is requested, or an order placed.

8S Drain Pan

CPC Controller, DFS, APS
Johnson Controller UNT 1126 (N2 protocol), DFS, APS
Honeywell Controller, DFS, APS

Novar Controller, DFS, APS

Simplicity IntelliComfort Controller

Simplicity IntelliComfort Controller w/Simplicity®LINC
Hot Gas Bypass (Standard on VAV, Optional on CV)
Variable Air Volume, VFD (not available with factory i

Variable Air Volume, VFD and Mai
(not available with factory ins

Variable Air Volume, VFD and Manual Bypass wil
(not available with factory installed BAS options

Variable Air Volume, VFD (BASifeady)
Variable Air Volume, VFD and Maﬁ;&Bypass (B,
Variable Air Volume, VFD Ready (for vided, field-installed drive)

Variable Air Volume, VFD Ready with Simplicity®LINC
(for customer-provided, field-installed drive)

[| 2" Pleated ﬂlﬁ
B 4" Pleated fil
: BAS W/.D.C. Actuator without a Controller)

Any Combinatioh of Additional Options that Don’'t Have an Option Code Pre-assigned

ry installed BAS options)

d

Additional Options

AG = Coil Guard & Dirty Filter Switch

TA = Technicoat Condenser Coil
TJ = Technicoat Evaporator Coil

ity Filter Switch
= Phase Monitor & Coil Guard
AF = Phase Monitor & Dirty Filter Switch

AH = Phase Monitor, Coil Guard & Dirty Filter Switch
RC = Coil Guard, Shipping Bag & American Flag

TS = Technicoat Evaporator & Condenser Coils

ZZ = If desired option combination is not listed above, ZZ will be assigned and configuration options will be

located in digits 15-18.

Installation Options

B = Option 1
C = Option 2
D = Options 1 & 2
E = Option 3
F = Option 4
G = Options 1 & 3

T = 208/230-3-60
W = 460-3-60
X =575-3-60

H = Options 1 & 4

Al
riiow J=Options 1,2 &3

ectric Heat Options

EO03 = 3 KW (-A3)

EO06 = 6 KW (-A3, -Ad, -A5)

EO08 = 9 KW (-A3, -Ad, -A5)

E09 = 9 KW (-06, -07, -08)

E15 = 15 KW (-A3, -Ad, -A5)

E18 = 18 KW (-06, -07, -08, -10, -12)
E20 = 20 KW (-A4, -A5)

E23 = 24 KW (-A5)

E24 = 24 KW (-06, 07, -08, -10, -12)
E36 = 36 KW (-06, -07, -08, -10, -12)
E54 = 54 KW (-10, -12)

K= Options 1, 2, &4

A = Std. Motor L = Options 1,3 & 4

B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

D = Std. Motor/Motorized Damper (Downflow Only)

E = Std. Motor/Horizontal Economizer (No Baro.)

F = Std. Motor/Slab Econo./Power Exhaust
(Downflow Only)

G = Std. Motor/Slab Econo./Barometric Relief

N = Options 2 & 3

P = Options 2 & 4

Q =Options 2, 3, &4
R = Options 3 & 4

S = Option 5

T =Options 1 & 5

U =Options 1, 3, &5

Voltage A = No Options Installed

M = Options 1, 2, 3, & 4

N '(_‘P‘;‘:“TOW Only) V = Options 1, 4, & 5

= Hi Static i

P = Hi Static/Econo./Barometric Relief ;Vz_cgﬁ%zn:;fé“' &s
(Downflow Only) Y = Options 4 & 5

Q = Hi Static/Econo./Power Exhaust Z=Options 3,4 &5
(Downflow Only) !

R = Hi Static/Motorized Damper (Downflow Only)

S = Hi Static/Horizontal Economizer (No Baro.) Options

T = Hi Static/Slab Econo./Power Exhaust

(Downflow Only)

U = Hi Static/Slab Econo /Barometric Relief 1= Disconnect

2 = Non-Pwr'd Conv. Outlet

(Downflow only)

3 = Smoke Detector S.A.
4 = Smoke Detector R.A.
5 = Pwr'd Conv. Outlet

03/08/2021

OSP-0213

Johnson Controls Unitary Products
Page 16 of 61



528197-BTG-F-1210

Nomenclature

6.5-12.5 Ton Single Package Model Number Nomenclature

[z]s] -10 [N18]A[T[A]AA[5]0[1]2]4]A]

Product Category

Z=A/C, Single Pkg., R-410A

Product Identifier

S=11.2+EERA/C

Nominal Cooling Capacity

-06 = 6.5 Ton
-07 =7.5Ton
-08 = 8.5 Ton
-10=10.0 Ton
-12=12.5Ton

Heat Type and Nominal Heat Capacity

CO00 = Cooling Only. No heat installed

Gas Heat Options

N12 = 120 MBH Input Aluminized Steel
N18 = 180 MBH Input Aluminized Steel
N24 = 240 MBH Input Aluminized Steel
S$12 =120 MBH Input Stainless Steel
S18 = 180 MBH Input Stainless Steel
S24 =240 MBH Input Stainless Steel

Electric Heat Options

E09 =9 KW

E18 = 18 KW
E24 =24 KW
E36 = 36 KW
E54 = 54 KW

Airflow

A = Std. Motor

B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

D = Std. Motor/Motorized Damper (Downflow Only)

E = Std. Motor/Horizontal Economizer (No Baro.)

F = Std. Motor/Slab Econo./Power Exhaust
(Downflow Only)

G = Std. Motor/Slab Econo./Barometric Relief s
(Downflow Only) (/

N = Hi Static

P = Hi Static/Econo./Barometric
(Downflow Only)

Q = Hi Static/Econo./Power Exhal
(Downflow Only)

R = Hi Static/Motorized Dampe

-

Product Style

A =Style A
B =StyleB

Configuration Options (not required for all units)

These four digits will not be assigned until a quote is requested, or an order placed.

| | SS Drain Pan

|| CPC Controller, DFS, APS

| | Johnson Controller UNT 1126 (N2 protocol), DFS, APS
|| Honeywell Controller, DFS, APS

Novar Controller, DFS, APS

| | Simplicity IntelliComfort Controller

| | Simplicity IntelliComfort Controller w/Simplicity®LINC

| | Hot Gas Bypass (Standard on VAV, Optional on CV)

Variable Air Volume, VFD and Manual Bypass
(not available with factory installed BAS option:

] Variable Air Volume, VFD and Manua

Variable Air Volume, VFD (BAS ready)
Variable Air Volume, VFD and&anual Bypass (BAS
|| Variable Air Volume, VFD Ready (for customer-pro

Variable Air Volume, VFD Ready" implicity®l
(for customer-provided, field-instal We)

|| 2" Pleated filters
| | 4" Pleated filters,
BAS Ready Ejnomizer (2-10 V.D.C. Actuator without a Controller)
| | Shipping Bag

Any ina dditiot

d, field-installed drive)

ptions that Don’t Have an Option Code Pre-assigned

Product Generation

I
Si=kifth Generation

Additional Options

Pha onitor T

hase Monitor & Dirty Filter Switch
= Coil Guard & Dirty Filter Switch
AH = Phase Monitor, Coil Guard & Dirty Filter Switch

TA = Technicoat Condenser Coil
echnicoat Evaporator Coil
oil Guard TS = Technicoat Evaporator & Condenser Coils

located in digits 15-18.

ZZ = If desired option combination is.not listed above, ZZ will be assigned and configuration options will be

Installation Options

Voltage

T =208/230-3-60
W = 460-3-60
X =575-3-60

A = No Options Installed
B = Option 1

C = Option 2

D = Options 1 & 2

E = Option 3

F = Option 4

G = Options 1 & 3

H = Options 1 & 4
J=0Options 1,2&3

K =Options 1,2, &4

L = Options 1,3 & 4

M = Options 1, 2, 3, & 4
N = Options 2 & 3

P = Options 2 & 4

Q =Options 2, 3, &4

R = Options 3 & 4

S = Option 5

T = Options 1 & 5

U =Options 1, 3,&5

V = Options 1,4, &5
W = Options 1, 3,4, &5
X = Options 3 & 5

Y = Options 4 & 5

Z =Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

Johnson Controls Unitary Products
03/08/2021

OSP-0213

Page 17 of 61



528198-BTG-C-1210

Nomenclature
6.5-12.5 Ton Single Package Model Number Nomenclature
IX]A[ -10 [N18[A[T|A[AA[5]0]1[2][4]A]
Product Category Product Style
X = HP, Single Pkg., R-410A A=Style A
B = Style B
Product Identifier Configuration Options (not required for all units)
These four digits will not be assigned until a quote is requested, or an order placed.
A=11.0+ EERHP "
S8 Drain Pan
CPC Controller, DFS, APS
Johnson Controller, DFS, APS
Honeywell Controller, DFS, APS

Novar Controller, DFS, APS
Simplicity IntelliComfort Controller

Nominal Cooling Capacity

-06 =6.5Ton Simplicity IntelliComfort Controller w/ModLinc

[TTTTTTTTTI

-0 .5 Ton

-08 = 8.5 Ton 2" Pleated filters

-:112 = 122 $on 4" Pleated filters

te=teston BAS Ready Economizer (| or t a Controller)

Shipping Bag
3 N Any Combination of Addi&al Options that 't Have an Option Code Pre-assigned
Heat Type and Nominal Heat Capacity A
s
Product i
€00 = Cooling Only. No heat installed i ¥ il v < 2

5 = Fifth Generation

8

Electric Heat Options

E09 = 9 KW
E18 = 18 KW Additional Options
E24 = 24 KW f ;
E36 = 36 KW AA = None TA = Technicoat Condenser Coil
E54 = 54 KW AB-= Phase Monitor 1 . TJ = Technicoat Evaporator Coil
AC = Coil Guardsa < TS = Technicoat Evaporator & Condenser Coils
AE {Phase Mo 8'GHG
AE ase itor Guard
AE'= Phase M r & Dirty Filter Switch
AG=\Coil Guard &Birty Filter Switch
> aAH = \s'e Monitor, Coil Guard & Dirty Filter Switch
Airflow .
v
A = Std. Motor Z =lf desired option combination is not listed above, ZZ will be assigned and configuration options will be
o ) . ated in digits 15-18.
B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

D = Std. Motor/Motorized Damper (Downflow Only) %
E = Std. Motor/Horizontal Economizer (
F = Std. Motor/Slab Econo./Power Ex|

Installation Options

(Downflow Only) A = No Options Installed
G = Std. Motor/Slab Econo./Barometric B = Option 1
(Downflow Only) C = Option 2
N = Hi Static Mtr. D = Options 1 & 2
P = Hi Static Mtr./Econo./Barom, E = Option 3
(Downflow Only) F = Option 4
Q = Hi Static Mtr./Econo./Pow G =Options 1 &3
(Downflow Q H = Options 1 & 4
R = Hi Static ) d Dal w Only) J =0Options 1,2& 3
S = Hi Stai al Econo o Baro.) K=Options 1,2, &4
T = Hi Sté 0 Rower Exhaust L = Options 1,3 & 4
(Down M = Options 1, 2, 3, & 4
U = Hi Static ab Econo./Barometric Relief N = Options 2 & 3
(Downflow ol P = Options 2 & 4
Q = Options 2, 3, & 4
R = Options 3 & 4
S = Option 5
T =Options 1 &5
Voltage U = Options 1, 3, & 5

V =Options 1,4, &5

T = 208/230-3-60 W =Options 1, 3,4, &5
W = 460-3-60 X = Options 3 & 5

X = 575-3-60 Y = Options 4 & 5
Z=0Options 3,4 &5

Options

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 =Pwr'd Conv. Outlet

Johnson Controls Unitary Products 3
03/08/2021 OSP-0213 Page 18 of 61



528199-JTG-H-0211

3-12.5 Ton JCI Series 10 Model Number Nomenclature
Nominal Cooling Capacity Product Style
JA3 =3 Ton A=Style A
JA4 =4 Ton B=StyleB
JA5 =5 Ton C=StyleC
J06 =6.5 Ton
J07 =7.5Ton ) ) . , )
J08 = 8.5 Ton . Qonflguratlon ‘Optlons (pot requlrgd for all units)
J10 = 10.0 Ton These four digits will not be assigned until a quote is requested, or an order placed.
J12=12.5Ton | | s Drain Pan
| | CPC Controller, DFS, APS
Product Category || Johnson Controller UNT 1126 (N2 protocol), DFS, APS
2 = AIC. Single Pkg.. R410A Johnson Controller Metasys FEC-2611 (BACnet MS/TP protocol), SAS, RAS, OAS, DFS, APS
=A%, Single PXg., Honeywell Controller, DFS, APS
[ | Novar Controller, DFS, APS
Product Identifier Simplicity IntelliComfort Controller
H=11.7-11.8 EER 1 Simplicity IntelliComfort Controller w/Simplicity®LINC
‘IJR—=1R2é%1§aER | | Commercial Comfort System (CCS) Rtu Controller
Hot Gas Bypass (Standard on VAV, Optional on CV)
Heat Type and Nominal Heat Capacity [~ | variable Air Volume, VFD (not available with factory ii
(Unit Size Allowed) || Variable Air Volume, VFD with Simplicit installed BAS options)

C00 = Cooling Only. No heat installed ™| Variable Air Volume, VFD and Mal pas!
(not available with factory instal BAS option:
— Variable Air Volume, VFD and ual Bypass with
A05 = 49 MBH Output Aluminized Steel, (not available with factory ins d BAS options)
Single Stage (JA3, JA4) 1

Single Stage Natural Gas Heat Options —

AO7 = 65 MBH Output Aluminized Steel, | | Variable Air Volume, VFD (BAS ready)
Single Stage (JA3, JA4, JAS) Variable Air Volume, VFD and Manua@as (
A0S g;glieBg‘%uetp(j;élvumzjasf;(eel, | | Variable Air Volume, VFD Ready (for customer-provided, field-installed drive)
A13 =129 MBH Output Aluminized Steel, Variable Air VolumegVFB,Ready with Simplicity®LINC
Single Stage (JA5) (for.customer-grovided, field-installed drive)
BO5 = 49 MBH Output Stainless Sleel, ™ 2 leated fitte
Single Stage (JA3, JA4) — .. 3
BO7 = 65 MBH Output Stainless Steel, 4" Pleated filters
Single Stage (JA3, JA4, JA5) | BAS noMD.C. Actuator without a Controller)

BO09 = 97 MBH Output Stainless Steel, — _— i 1 8 " .
Single Stagep(JAS, JA4, JA5) Any/Combination r{fddmonal Options that Don't Have an Option Code Pre-assigned

B13 = 129 MBH Output Stainless Steel, Y ]?
Single Stage (JA5) N

Two Stage Natural Gas Heat Options

NO5 = 49 MBH Output Aluminized Steel,
Two Stage (JA3, JA4)

= Fifth Geheration

NO7 = 65 MBH Output Aluminized Steel, —
Two Stage (JA3, JA4, JAS) Additional Options

NO9 = 97 MBH Output Aluminized Steel,
Two Stage (JA3, JA4, JA5) = Nol AG = Coil Guard & Dirty Filter Switch

N13 = 129 MBH Output Aluminized Steel, B = P Monitor AH = Phase Monitor, Coil Guard & Dirty Filter Switch
Two Stage (JA5) Guard RC = Coil Guard, Shipping Bag & American Flag

S05 = 49 MBH Output Stainless Sleel, = Dirty Filter Switch TA = Technicoat Condenser Coil
Two Stage (JA3, JA4) ] AE = Phase Monitor & Coil Guard TJ = Technicoat Evaporator Coil

S07 = 65 MBH Output Stainless Steel, Q AF = Phase Monitor & Dirty Filter Switch TS = Technicoat Evaporator & Condenser Coils
Two Stage (JA3, JA4, JA5)

S09 = 97 MBH Output Stainless l, (] 77 = If desired option combination is not listed above, ZZ will be assigned and configuration options will be
Two Stage (JA3, JA4, JA located in digits 15-18.

$§13 = 129 MBH Output Stainless

Two Stage (JA5)

Two Stage (J06, JO Ir ion Options
N15 = 150 MBH Output A

200 Sage o Voltage A = No Options Installed
B = Option 1
2 =208/230-3-60 C = Option 2
60-3-60 D ptions 1 & 2
5 =575-3-60 E = Option 3

F = Option 4
1 Output Stainless Steel, ﬁ fgp:_lons : gf
310, J12) Airflow  options
age (J10, J=Options 1,2 &3

K = Options 1, 2, & 4

L = Options 1,3 & 4

M = Options 1, 2, 3, &4
N = Options 2 & 3

P = Options 2 & 4

Q =Options 2, 3, &4

R ptions 3 & 4

S = Option 5

T = Options 1 &5

U =Options 1, 3, &5

\ ptions 1,4, & 5
W =Options 1, 3,4, &5
X = Options 3 &5

Y = Options 4 & 5

Z = Options 3,4 &5

ric Heat Options A = Std. Motor

B = Std. Motor/Econo./Barometric Relief (Downflow
Only)

C = Std. Motor/Econo./Power Exhaust (Downflow Only)

td. Motor/Motorized Damper (Downflow Only)

td. Motor/Horizontal Economizer (No Baro.)

F = Std. Motor/Slab Econo./Power Exhaust
(Downflow Only)

G = Std. Motor/Slab Econo./Barometric Relief
(Downflow Only)

N = Hi Static

P = Hi Static/Econo./Barometric Relief
(Downflow Only)

Q = Hi Static/Econo./Power Exhaust
(Downflow Only)

R = Hi Static/Motorized Damper (Downflow Only)

S = Hi Static/Horizontal Economizer (No Baro.) Options

T = Hi Static/Slab Econo./Power Exhaust
(Downflow Only)

U = Hi Static/Slab Econo./Barometric Relief
(Downflow only)

E03 = 3 KW (JA3)
E06 = 6 KW (JA3, JAd, JAS)

E08 = 9 KW (JA3, JAd, JAS)

E09 = 9 KW (J06, JO7, J08)

E15 = 15 KW (JA3, JA4, JAS)

E18 = 18 KW (J06, J07, J08, J10, J12)
E20 = 20 KW (JA4, JA5)

E23 = 24 KW (JAS5)

E24 = 24 KW (J06, J07, J08, J10, J12)
E36 = 36 KW (J06, J07, J08, J10, J12)
E54 = 54 KW (J10, J12)

1 = Disconnect

2 = Non-Pwr'd Conv. Outlet
3 = Smoke Detector S.A.

4 = Smoke Detector R.A.

5 = Pwr'd Conv. Outlet

4 Johnson Controls Unitary Products
03/08/2021 OSP-0213 Page 19 of 61



Table 2 - Certified Subcomponents - Refrigerant Compressor

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line:

JCI Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Refrigerant Compressor

Model Number Manufacturer Material of Construction Unit
H82J263 Carbon Steel 1
H82J283 Carbon Steel 3
H82J293 Carbon Steel Interpolated
H82J303 Carbon Steel 10
H82J353 Carbon Steel Interpolated
H82J373 Bristol Carbon Steel Interpolated
H82J403 Carbon Steel Interpolated
H82J483 Carbon Steel 2,4
H83C363 Carbon Steel 7
H83R443 Carbon Steel Interpolated
H83R513 Carbon Steel Interpolated
H83R683 Carbon Steel 8
HLHO068 Danfoss Carbon Steel 6,11
ZP29K6E Carbon Steel Extrapolated”
ZPS30KSE Carbon Steel Extrapolated’
ZP36K5E Carbon Steel 5
ZP38K6E Carbon Steel Interpolated
ZP39K5E Carbon Steel Interpolated
ZP40K6E Carbon Steel Interpolated
ZPS40K5E Carbon Steel 12
ZP42K5E Carbon Steel Interpolated
ZP44K5E Carbon Steel Interpolated
ZP34K6E Copeland Carbon Steel Interpolated
ZP51K5E Carbon Steel 9
ZPS51K5E Carbon Steel Interpolated
ZP54K6E Carbon Steel Interpolated
ZP49K6E Carbon Steel Interpolated
ZPSA9K5E Carbon Steel 12
ZPS60K5E Carbon Steel 13
ZP61K5E Carbon Steel Interpolated
ZP67KCE Carbon Steel Interpolated
ZP72KCE Carbon Steel 13

Note:

1. Tested Copeland compressors weigh between 63 and 88 lb. Extrapolated Copeland compressors weigh 48 and 49 lb.

03/08/2021

OSP-0213

Page 20 of 61



Table 3 - Certified Subcomponents - Outdoor Fan Motors

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Outdoor Fan Motors

Model Number | Manufacturer | Voltage [V] Power [Horsepower] Material of Construction Unit
FA8T 1 230/460/575 1/3 Carbon Steel 1,2,3,4
FASN AO Smith 230/460/576 1/3 to 3/4 (2-4 Quantity) Carbon Steel 5,6,7,8,9,10,11
1041518 230 1/3 Carbon Steel Extrapolated
5271257 230 1/3 Carbon Steel Extrapolated
5271258 460 1/3 Carbon Steel Extrapolated
5400378 230 1/3 Carbon Steel Extrapolated
5400379 Genteq1 460 1/3 Carbon Steel 13
5400376 230 1/3 Carbon Steel 12
5400377 460 1/3 Carbon Steel Extrapolated
5411939 230 1/3 Carbon Steel Extrapolated
5411940 460 1/3 Carbon Steel Extrapolated
Options: ODF Blades - Lau T10, ODF Grilles - Premier
1. Owned by Regal Beloit.
03/08/2021 OSP-0213 Page 21 of 61




Table 4 - Certified Subcomponents - Indoor Coils

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line:

JCI Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Indoor Coils
Model Number | Manufacturer Description Dimensions [total ftA2] Material of Construction Unit
84978 ICI Evaporating Coils 7.8 Copper 5
84974 JCI Evaporating Coils 10.0 Copper 13
5522860 JCI Evaporating Coils 10.0 Copper 13
83725 JCl Evaporating Coils 8.0 Aluminum and Copper 3
74105 JClI Evaporating Coils 10.6 Aluminum and Copper 2
83730 JCI Evaporating Coils 10.6 Aluminum and Copper 1,4,5,7,10
83694 JCl Evaporating Coils 13.2 Aluminum and Copper Interpolated
83748 Jcl Evaporating Coils 13.2 Aluminum and Copper 6,8,9 11
286479 JCl Reheat Coil 6.6 Aluminum and Copper 5
635816 JCl Reheat Coil 10.0 Aluminum and Copper 6
03/08/2021 OSP-0213 Page 22 of 61



Table 5 - Certified Subcomponents - Outdoor Coils

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line:

JCI Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Outdoor Coils

Model Number Manufacturer Description Dimensions [total ft"2] Material of Construction Unit
JCI#449602 Delphi Condenser Coil 11.9 Aluminum 3
JCI#666492 Delphi Condenser Coil 11.9 Aluminum 1
JCI#670762 Delphi Condenser Coil 11.9 Aluminum 2
JCI#449598 Delphi Condenser Coil 18.5 Aluminum 10
JCI#513695 Delphi Condenser Coil 18.5 Aluminum Interpolated
JCI#449600 Delphi Condenser Coil 23.8 Aluminum 4
JCI#519832 Delphi Condenser Coil 23.8 Aluminum Interpolated
JCI#520526 Delphi Condenser Coil 23.8 Aluminum Interpolated
JCI#551643 Delphi Condenser Coil 23.8 Aluminum Interpolated
JCI#579297 Delphi Condenser Coil 23.8 Aluminum 5
JCI#579313 Delphi Condenser Coil 23.8 Aluminum Interpolated
JCI#519833 Delphi Condenser Coil 29.0 Aluminum Interpolated
JCI#519834 Delphi Condenser Coil 29.0 Aluminum 11
JCI#513697 Delphi Condenser Coil 29.0 Aluminum Interpolated
JCI#519833 Delphi Condenser Coil 29.0 Aluminum Interpolated
JCI#579319 Delphi Condenser Coil 29.0 Aluminum Interpolated
JCI#520697 Delphi Condenser Coil 47.5 Aluminum 9
JCI#85075 Delphi Condenser Coil 47.5 Aluminum 6

256903 ICl Fin/Tube 23.8 Aluminum and Copper 7
260544 JCl Fin/Tube 23.8 Aluminum and Copper Interpolated
176560 JCl Fin/Tube 29.0 Aluminum and Copper Interpolated
177201 ICl Fin/Tube 29.0 Aluminum and Copper Interpolated
253771 Icl Fin/Tube 47.5 Aluminum and Copper 8
5410631 Sanhua Condenser Coil 9.4 Aluminum Extrapolated
5399396 Sanhua Condenser Coil 121 Aluminum 12
5444909 Sanhua Condenser Coil 12.1 Aluminum Interpolated
5399395 Sanhua Condenser Coil 121 Aluminum 13
5444910 Sanhua Condenser Coil 14.8 Aluminum 13
5399399 Sanhua Condenser Coil 14.8 Aluminum 13
5399400 Sanhua Condenser Coil 14.8 Aluminum 13
5399400 Sanhua Condenser Coil 14.8 Aluminum Interpolated
5410632 Sanhua Condenser Coil 11.8 Aluminum Interpolated
5399402 Sanhua Condenser Coil 144 Aluminum 12
03/08/2021 OSP-0213 Page 23 of 61



Table 6 - Certified Subcomponents - Reversing Valve with Coil

Manufacturer: Johnson Controls and other Unitary Product Group brands
Product Line: JCl Packaged Rooftop Units
Mounting Description: Rigid or Flexible Curb Mounting

Reversing Valve with Coil

Model Number Manufacturer Description Material of Construction Unit
STFO4U23G Danfoss Reversing Valve with Coil Brass, Copper 7
STFO7U21G Danfoss Reversing Valve with Coil Brass, Copper 8

03/08/2021 OSP-0213

Page 24 of 61



Table 7 - Certified Subcomponents - Thermostatic Expansion Valves

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Thermostatic Expansion Valves

Model Number Manufacturer Description Material of Construction Unit
BBIZE-3 Sporlan 3/8" Brass, Copper 5,7,10
BBIZE-4 Sporlan 3/8" Brass, Copper Interpolated
BBIZE-5 Sporlan 3/8" Brass, Copper Interpolated
BBIZE-6 Sporlan 3/8" Brass, Copper 5,8,9,11
Note: 2 valves per UUT.
03/08/2021 OSP-0213 Page 25 of 61




Table 8 - Certified Subcomponents - Indoor Blower Motor, Standard

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Indoor Blower Motor, Standard

Model Number Manufacturer Description Material of Construction Unit
P63PYC Emerson 1.5t0 2.0 HP Carbon Steel 1,2,3,4,5,7,10
useT Marathon 1.5 to 3.0 HP/575V Carbon Steel 5,6,7,8,9,10, 11
Q56T Marathon 3.0 HP/230-460V Carbon Steel 6,8,9,11
8-158756PP AO Smith 2.0 HP/230-460V Carbon Steel 5,7,10
36J448 Baldor 5.0 HP/230-460V Carbon Steel 6,8,9, 11
36B106 Baldor 5.0 HP/575V Carbon Steel 6,8,9, 11
03/08/2021 OSP-0213 Page 26 of 61




Table 9 - Certified Subcomponents - Indoor Blower Motor, Variable Frequency Drive

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Indoor Blower Motor, Variable Frequency Drive

Model Number Manufacturer Description Material of Construction Unit
35Y377S Baldor 1.5 HP 230/460V Carbon Steel 10
35Y041P Baldor 2.0 HP 230/460V Carbon Steel 10
35Y041M Baldor 1.5 HP 575V Carbon Steel 10
35Y377S Baldor 2.0 HP 575V Carbon Steel 10
35Y041T Baldor 3.0 HP 230/460V Carbon Steel 9,11
35Y041S Baldor 3.0 HP 575V Carbon Steel 9,11
36M381 Baldor 5.0 HP/230-460V Carbon Steel 9,11
36M382 Baldor 5.0 HP/575V Carbon Steel 9,11

03/08/2021 OSP-0213 Page 27 of 61




Table 10 - Certified Subcomponents - Exhaust Fan Motor

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Exhaust Fan Motor

Model Number Manufacturer Description Material of Construction Unit
F48X26 A.O. Smith 230V Motor Carbon Steel 4
FA8X06 A.O. Smith 460V Motor Carbon Steel Interpolated
FA8W97 A.O. Smith 575V Motor Carbon Steel 10

03/08/2021

OSP-0213

Page 28 of 61



Table 11 - Certified Subcomponents - Variable Frequency Drive

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Variable Frequency Drive

Model Number | Manufacturer Description Material of Construction Unit
MVX002A0-2 Eaton 1.5to 2.0 HP, 230V Plastic, Aluminum 10
MVX002A0-4 Eaton 1.5to 2.0 HP, 460V Plastic, Aluminum 10
MVX002A0-5 Eaton 1.5to 2.0 HP, 575V Plastic, Aluminum 10
MVX003A0-2 Eaton 3.0 HP, 230V Plastic, Aluminum 9,11
MVX003A0-4 Eaton 3.0 HP, 460V Plastic, Aluminum 9,11
MVX003A0-5 Eaton 3.0 HP, 575V Plastic, Aluminum 9,11
MVX005A0-2 Eaton 5.0 HP, 230V Plastic, Aluminum 9,11
MVX005A0-4 Eaton 5.0 HP, 460V Plastic, Aluminum 9,11
MVX005A0-5 Eaton 5.0 HP, 575V Plastic, Aluminum 9,11

FR-D720-070-NA Mitsubishi 2 HP, 230V Plastic, Aluminum Extrapolated

FR-D740-036-NA Mitsubishi 2 HP, 480V Plastic, Aluminum Extrapolated

FR-E560-1.5K-NA Mitsubishi 2 HP, 575V Plastic, Aluminum Extrapolated

FR-D720-100-NA Mitsubishi 3 HP, 230V Plastic, Aluminum 12

FR-D740-050-NA Mitsubishi 3 HP, 480V Plastic, Aluminum Interpolated

FR-E560-2.2K-NA Mitsubishi 3 HP, 575V Plastic, Aluminum Interpolated

FR-D720-165-NA Mitsubishi 5 HP, 230V Plastic, Aluminum Interpolated

FR-D740-080-NA Mitsubishi 5 HP, 480V Plastic, Aluminum Interpolated

FR-E560-3.7K-NA Mitsubishi 5 HP, 575V Plastic, Aluminum 13

03/08/2021

OSP-0213

Page 29 of 61



Table 12 - Certified Subcomponents - Economizer
Manufacturer: Johnson Controls and other Unitary Product Group brands
Product Line: JCl Packaged Rooftop Units
Mounting Description: Rigid or Flexible Curb Mounting
Economizer
Model Number | Manufacturer Description Material of Construction Unit
2EE04706024 JCl Horizontal Economizer Carbon Steel 1,2,345678
9,10, 11
2EE04705824 ICl Slab Economizer Carbon Steel 1,2,3,4,5,7,10
2EE04705724 ICl Slab Economizer Carbon Steel 6,8,9, 11
1,2,3,4,56,7,8
2MD04703724 JCl 2-Position Economizer Carbon Steel T 9’ 1'0 '11' T
EE04706924 RRS Econ, Fact, Down, S_?:IIW/Behmo actuator, Carbon Steel 12
E Fact, D SSE JCl actuat PE
2EE04706924 RRS con, ract, Bown, Ta‘?l’/ acHUItor, w/PE, Carbon Steel 13

03/08/2021 OSP-0213 Page 30 of 61



Table 13 - Certified Subcomponents - Electric Heater

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Electric Heater

Model Number | Manufacturer Description Material of Construction Unit
9kW, 230V, Standard Predator, 42"
2TP04540925 Tutco . Carbon Steel 7
cabinet, AC and HP
9kW, 460V, Standard Predator, 42"
2TP04540946 Tutco ) Carbon Steel Interpolated
cabinet, AC and HP
9kW, 575V, Standard Predator, 42"
2TP04540958 Tutco ) Carbon Steel Interpolated
cabinet, AC and HP
18kW, 230V, Standard Predator, 42"
2TP04541825 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
18kW, 460V, Standard Predator, 42"
2TP04541846 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
18kW, 575V, Standard Predator, 42"
2TP04541858 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
24kW, 230V, Standard Predator, 42"
2TP04542425 Tutco : Carbon Steel Interpolated
cabinet, AC and HP
24kW, 460V, Standard Predator, 42"
2TP04542446 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
24kW, 575V, Standard Predator, 42"
2TP04542458 Tutco / Carbon Steel Interpolated
cabinet, AC and HP
36kW, 230V, Standard Predator, 42"
2TP04543625 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
36kW, 460V, Standard Predator, 42"
2TP04543646 Tutco / Carbon Steel Interpolated
cabinet, AC and HP
36kW, 575V, Standard Predator, 42"
2TP04543658 Tutco [ Carbon Steel Interpolated
cabinet, AC and HP
9kW, 230V, Standard Predator, 50"
2TP04520925 Tutco A Carbon Steel Interpolated
cabinet, AC and HP
9kW, 460V, Standard Predator, 50"
2TP04520946 Tutco / Carbon Steel Interpolated
cabinet, AC and HP
9kW, 575V, Standard Predator, 50"
2TP04520958 Tutco | Carbon Steel Interpolated
cabinet, AC and HP
18kW, 230V, Standard Predator, 50"
2TP04531825 Tutco ; Carbon Steel Interpolated
cabinet, AC and HP
18kW, 460V, Standard Predator, 50"
2TP04531846 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
18kW, 575V, Standard Predator, 50"
2TP04521858 Tutco . Carbon Steel Interpolated
cabinet, AC and HP.
24kW, 230V, Standard Predator, 50"
2TP04532425 Tutco : Carbon Steel Interpolated
cabinet, AC and HP
24kW, 460V, Standard Predator, 50"
2TP04532446 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
24kW, 575V, Standard Predator, 50"
2TP04522458 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
36kW, 230V, Standard Predator, 50"
2TP04533625 Tutco : Carbon Steel Interpolated
cabinet, AC and HP
36kW, 460V, Standard Predator, 50"
2TP04533646 Tutco . Carbon Steel Interpolated
cabinet, AC and HP
36kW, 575V, Standard Predator, 50"
2TP04523658 Tutco : Carbon Steel Interpolated
cabinet, AC and HP
54kW, 230V, Standard Predator, 50"
2HP04535425 Tutco ; Carbon Steel Interpolated
cabinet, heat pump
54kW, 460V, Standard Predator, 50"
2HP04535446 Tutco ; Carbon Steel Interpolated
cabinet, heat pump
54kW, 230V, Standard Predator, 50"
2TP04525425 Tutco ] Carbon Steel Interpolated
cabinet, AC only
54kW, 460V, Standard Predator, 50"
2TP04525446 Tutco ] Carbon Steel Interpolated
cabinet, AC only
54kW, 575V, Standard Predator, 50"
2TP04525458 Tutco ] Carbon Steel Interpolated
cabinet, AC only
54kW, 575V, Standard Predator, 50"
2HP04535458 Tutco ; Carbon Steel 8
cabinet, heat pump
03/08/2021 OSP-0213

Page 31 of 61



Table 14 - Certified Subcomponents - Heat Cells

Manufacturer: Johnson Controls and other Unitary Product Group brands

JCI Packaged Rooftop Units

Product Line:

Mounting Description: Rigid or Flexible Curb Mounting

Heat Cells (Heat Type and Nominal Heat Capacity)

Model Number Manufacturer Description [MBH Output] Material of Construction Unit
Single Stage Natural Gas Heat Options
AOS il 49 MBH Out_put Aluminized Steel, Carbon Steel 1
Single Stage
65 MBH Output Aluminized Steel
AO7 ICl u .pu uminized Steel, Carbon Steel Interpolated
Single Stage
97 MBH Output Aluminized Steel,
A09 JCl ! _pu uminized stee Carbon Steel Interpolated
Single Stage
129 MBH Output Aluminized
Al3 Jal u. put Aluminize Carbon Steel 2
Steel, Single Stage
49 MBH Output Stainl Steel, >
BOS Jal S A0 L i Stainless Steel Interpolated”
Single Stage
65 MBH Output Stainless Steel, . 1
BO7 JCI ) Stainless Steel Interpolated
Single Stage
97 MBH Output Stainless Steel, |
B09 Jal i Stainless Steel Interpolated’
Single Stage
129 MBH Output Stainless Steel, . 1
B13 JCI . Stainless Steel Interpolated
Single Stage
Two Stage Natural Gas Heat Options
49 MBH Output Aluminized Steel,
NO5 JClI HEPYE MIITERT Pie Carbon Steel Interpolated
Two Stage
65 MBH Output Aluminized Steel
NO7 ICl e Carbon Steel Interpolated
Two Stage
97 MBH Output Aluminized Steel,
NO09 ICl IR Carbon Steel Interpolated
Two Stage
100 MBH Output Aluminized
N10 Jal ¢ iOm T~ Carbon Steel 5
Steel, Two Stage
129 MBH Qutput Aluminized
N13 ICl N, Carbon Steel Interpolated
Steel, Two Stage
150 MBH Output Aluminized
N15 Jal WP Carbon Steel Interpolated
Steel, Two Stage
N20 il 200 MBH Output Aluminized Carbon Steel 6
Steel, Two Stage
49 MBH Output Stainless Steel,
S05 Jal P Stainless Steel 3
Two Stage
65 MBH Output Stainless Steel,
S07 ICl UEPLE Stainiess Stee Stainless Steel Interpolated
Two Stage
97 MBH Output Stainless Steel,
S09 JCl P Stainless Steel Interpolated
Two Stage
100 MBH Output Stainless Steel,
510 icl UIPLE Stainless Stee Stainless Steel 10
Two Stage
129 MBH Output Stainl Steel,
S13 Jal utput Stainiess Stee Stainless Steel 4
Two Stage
150 MBH Output Stainl Steel,
S15 JClI LEpLE Stalnless Stee Stainless Steel Interpolated
Two Stage
200 MBH Output Stainless Steel,
520 il P Stainless Steel 9
Two Stage

All heat cells are both stainless and aluminized.
1. Single stage units are bookended by UUT 3 and UUT 4

03/08/2021

OSP-0213

Page 32 of 61



Table 15 - Certified Subcomponents - Filters
Manufacturer: Johnson Controls and other Unitary Product Group brands
Product Line: JCl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Filters
Model Number Manufacturer Description Material of Construction Unit
A i A. 1/ 2/ 3/ 4/ 5/ 6/
198 mer_|can " 16" x 24" x 2" Fiberglass TA Filter Cardboard, Fiberglass
Filter 7,8,9,10,11
American Air 1,2,3,4,5,6,
300X . 16" x 24"x 2" Pleated Filter Cardboard, Fiberglass
Filter 7,8,9,10,11
A i A. 1/ 2/ 3/ 4/ 5/ 6/
AA1300 mer_|can " 16" x 24" x 4" Pleated Filter Cardboard, Fiberglass
Filter 7,8,9,10,11
102-741-020 Koch! 2"x16"x24" Fiberglass TA Filter Cardboard, Fiberglass 12
141-604-859 Koch 4"x20"x24" Fiberglass TA Filter Cardboard, Fiberglass 13

Notes:
1. Alternative branding of American Air part number 170-112-782

03/08/2021 OSP-0213

Page 33 of 61




Table 16 - Certified Subcomponents - Miscellaneous
Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line: ICl Packaged Rooftop Units

Mounting Description: Rigid or Flexible Curb Mounting

Miscellaneous

Model Number Manufacturer Description Material of Construction Unit
CY017 Advanced Controls Inc. VFD Bypass Switch Carbon Steel, Plastic 9,10, 11
5KCP39N GE 230 / 460V Power Exhaust Fan Motor Carbon Steel 1,2,3,4,56,7,8,9,10,11, 13
F48P AO Smith 575V Power Exhaust Fan Motor Carbon Steel 1,2,3,4,56,7,8,9, 10,11
YD4120 System Sensor Smoke Detector Plastic 1,2,3,4,5,6,7,8,9,10, 11,12, 13
FHL/KHL/JGL Square D Electrical Disconnect Switch Plastic 1,2,3,4,56,7,8,9,10,11, 13
. FEUTO, Epoxy Resin, Fiberglass,
AE 00203 Ayrshire Controller, Simplicity Lite Board gas/elec 1,2,3,4
Copper
. L Epoxy Resin, Fiberglass,
AE 00401 Ayrshire Controller, Simplicity 1A Board gas/elec Copper 5,6,9,10,11
. . Epoxy Resin, Fiberglass,
AE 00501 Ayrshire Controller, Simplicity 1A Board heat pump 7,8
Copper
P Epoxy Resin, Fiberglass,
5786050 Jcl Controller, Simplicity SE 1-stage Extrapolated
Copper
A L. Epoxy Resin, Fiberglass,
5786051 Jcl Controller, Simplicity SE 1-stage w/ COM Extrapolated
Copper
LRAN Epoxy Resin, Fiberglass,
6786052 Jcl Controller, Simplicity SE 2-stage Extrapolated
Copper
I . Epoxy Resin, Fiberglass,
6786053 Jcl Controller, Simplicity SE 2-stage w/ COM 12,13
Copper
e Epoxy Resin, Fiberglass,
6786054 Jcl Controller, Simplicity SE 4-stage board 12,13
Copper
ST ; Epoxy Resin, Fiberglass,
6786056 Jcl Controller, Simplicity SE Economizer Board A 12,13
Copper, Plastic
E Coil Drain P 20 ga 304 Stainl Steel), 56.56"L .
65674 (026-39484-000A) il vap Coil Drain Pan (20 ga ainless Steel) Stainless Steel 1,2,3,4,5,6,7,8,9,10, 11
x.4.13"W.x 4"D
E Coil Drain P Plastic), 56.56"L x 4.13"W x 4"D
10241 (032-00184-000) icl vap Coil Drain Pah (Plastic), 56.56"L x X Plastic 1,2,3,4,5,6,7,8,9, 10, 11
Polymer, 0.200"THK
E Resin, Fiberglass,
1159-10 United Technologies Intelli Comfort Board Xy resin, Fierglass 1,2,3,4, 10
Copper
i . Epoxy Resin, Fiberglass,
1084-900 United Technologies Defrost Board 7,8
Copper
= Resin, Fiberglass,
AE 1010044 Ayrshire VAV Board POEes!M Fderglass 9,10
Copper
03/08/2021 OSP-0213 Page 34 of 61




Table 17 - Tested Units

Manufacturer: Johnson Controls and other Unitary Product Group brands

Product Line:  JCl Packaged Rooftop Units

Tested Product Construction:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and duct panel with integral corner posts, all attached
at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Tested Options:

230-575 V, economizer, power exhaust, electric or gas heater, variable frequency drive

Tested Mounting Description:

Equipment was tested with both rigid (a) or flexible (b) curb mounting

Dimensions (inches) Nominal
Product Line Model Number Opferatlng COOlII:Ig Mount Eibl Unit
Depth Width Height | Weight(lb) | Capacity Approved
(Tons)

ZRO37A05D2DAES 89 59 e 980 3 Rigid Roof Curb Mounted la

Isolated Roof Curb Mounted 1b

. | zros1A1355G2750001 89 59 a2 1,070 5 Rigid Roof Curb Mounted 2
Predator Air Handling Isolated Roof Curb Mounted 25 2b
Units (Short) ZH037S05A2HZZ50001 89 59 2 360 3 Rigid Roof Curb Mounted 3a
Isolated Roof Curb Mounted 3b

7J061513T5B2250001 89 59 42 1,070 5 Rigid Roof Curb Mounted 4a

Isolated Roof Curb Mounted 4b

ZRO78N10D2DZZ5001 89 59 53 1,060 65 Rigid Roof Curb Mounted 5a

Isolated Roof Curb Mounted 5b

XPO78E09A2BACS 89 59 @ 970 6.5 Rigid Roof Curb Mounted 7a

Isolated Roof Curb Mounted 25 7b

ZF078S10F28225001 89 59 42 1,090 65 Rigid Roof Curb Mounted 10a

Isolated Roof Curb Mounted 10b

Preda'tor Air Handling ZH150C00A2BACS 1195 59 51 1,250 125 Rigid Roof Curb Mounted 1la
Units (Standard) Isolated Roof Curb Mounted 11b
ZR150N20N5GZZ50001 1195 59 42 1,600 125 Rigid Roof Curb Mounted ba

Isolated Roof Curb Mounted 6b

XP150E54NSHZZ50001 119.5 59 51 1,510 12,5 Rigid Roof Curb Mounted 2.0 8a

Isolated Roof Curb Mounted 8b

211505205582750001 1195 59 51 1,570 125 Rigid Roof Curb Mounted 9a

Isolated Roof Curb Mounted 9b

Predator Air Handling | ZT120N18P2B1LAAKAL 119.5 59 51 1,470 10 Rigid Roof Qrb Mounted 2.0 12a
Units (Ultra High Isolated Roof Curb Mounted 12b
Rigid Roof Curb Mounted 13a

ici ZT150S24RAD5LAE3EL 119.5 59 51 1,680 12.5 2.0

Efficiency) Isolated Roof Curb Mounted 13b

03/08/2021 OSP-0213 Page 35 of 61




UUT1a

() DCL

DYNAMIC
CERTIFICATION
LAOORATORIES, LLOD

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: 7ZR037A05D2DAE5

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and duct
panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Aluminized 3-ton natural gas fired heat exchanger, 230V, with solenoid valves and indoor (ID) reheat coil, IDB motor, 12”x9“wide blower wheel
micro channel OD coil, a single reciprocating type compressor, and a single refrigeration circuit. The unit uses TXV for modulating refrigerant
control. An optional Motorized economizer/no power exhaust (PE), non-powered convenience outlet, standard controller, phase monitor
(PM), no Dirty Filter Switch (DFS), standard plastic drain pan & standard 2” throw-away (TA) fiberglass filters were selected. The ZR/ZK and
ZJ/ZW 3 ton series uses a single outdoor fan (ODF) motor deck arrangement.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) ; -
Depth Width Height Front-Back (X) Side-Side (Y) Vertical (2)
980 89 59 42 7.8 7.5 13.3
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of the curb
The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the pockets using (6) #
12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min spacing for the bolts was 8".
The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of the
component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 36 of 61




UUT1b

(*) DCL

DYyNaAaMIC
CERTIFICATION
LABORATORIES,LLE

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: ZR037A05D2DAES

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Aluminized 3-ton natural gas fired heat exchanger, 230V, with solenoid valves and indoor (ID) reheat coil, IDB motor, 12”x9“wide
blower wheel, micro channel OD coil, a single reciprocating type compressor, and a single refrigeration circuit. The unit uses TXV for
modulating refrigerant control. An optional Motorized economizer/no power exhaust (PE), non-powered convenience outlet, standard
controller, phase monitor (PM), no Dirty Filter Switch (DFS), standard plastic drain pan & standard 2” throw-away (TA) fiberglass filters
were selected. The ZR/ZK and ZJ/ZW 3 ton series uses a single outdoor fan (ODF) motor deck arrangement.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) : -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
980 89 59 42 3.0 2.5 4.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by Ruskin (Provent), part #|ISCALPRD371522_104. The unit rested on
the perimeter of the curb. The curb had (6) 10Ga anchoring pockets, (2) on the each of the long side of the curb and (1) on each short
side. The unit was attached to each of the pockets using (4) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 5 bolts. The bolts were spaced 5-inches in from each side of the curb. The steel plate was attached to the shake
table with (12) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 37 of 61



UUT2a
Unit Under Test (UUT)
Summary Sheet

() DCL

DYyNAaMIDC
CERTIFICATION
LABORATORIES,LLE

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: ZR061A1355GZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Short 5-ton reheat unit with aluminized gas heat section, 575V, solenoid valves, ID reheat coil, IDB motor, 12”x9“wide blower wheel,
micro channel OD coil, a single reciprocating type compressor, and a single refrigeration circuit. The unit uses TXV for modulating
refrigerant control. An optional fully modulating horizontal economizer/no power exhaust (PE), no convenience outlet, standard
controller, no PM, optional DFS, optional supply air (SA) smoke detector, optional stainless steel drain pan & 2” pleated air filters were
selected. The ZR/ZK and ZJ/ZW 4 & 5 ton use a dual outdoor fan (ODF) motor deck arrangement.

UUT Properties
i Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,070 89 59 42 6.8 6.0 6.5
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of
the curb. The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the
pockets using (6) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min
spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 38 of 61



UUT2b (( )) DCL

Unit Under Test (UUT) ol gl —]
Summary Sheet vt

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: ZR061A1355GZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper
and duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal
screws.

Options / Component Summary:

Short 5-ton reheat unit with aluminized gas heat section, 575V, solenoid valves, ID reheat coil, IDB motor, 12”x9“wide blower wheel,
micro channel OD coil, a single reciprocating type compressor, and a single refrigeration circuit. The unit uses TXV for modulating
refrigerant control. An optional fully modulating horizontal economizer/no power exhaust (PE), no convenience outlet, standard
controller, no PM, optional DFS, optional supply air (SA) smoke detector, optional stainless steel drain pan & 2” pleated air filters
were selected. The ZR/ZK and ZJ/ZW 4 & 5 ton use a dual outdoor fan (ODF) motor deck arrangement.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - -

Depth Width Height Front-Back (X) | Side-Side (Y)| Vertical (Z)

1,070 89 59 42 3.0 2.8 5.3

Seismic Test Parameters

Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) AfIx-V (g) Arig-V (g)

CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by Ruskin (Provent), part #1ISCALPRD371522_102. The unit rested on
the perimeter of the curb. The curb had (6) 10Ga anchoring pockets, (2) on the each of the long side of the curb and (1) on each short
side. The unit was attached to each of the pockets using (4) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 5 bolts. The bolts were spaced 5-inches in from each side of the curb. The steel plate was attached to the shake
table with (12) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 39 of 61




UUT3a

(“» DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: ZH037505A2HZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Short 3-ton cooling only unit with single ODF deck construction, stainless steel natural gas fired heat exchanger, 230V, IDB motor,
12”x9“wide blower wheel, a single reciprocating type compressor and a single refrigeration circuit. The unit uses TXV for refrigerant
control. Standard controller, standard plastic drain pan, and 4” high efficiency pleated filters were selected.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
860 89 59 42 6.5 5.8 5.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of
the curb. The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the
pockets using (6) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min
spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 40 of 61



UUT3b

() DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLE

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: ZH037S505A2HZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Short 3-ton cooling only unit with single ODF deck construction, stainless steel natural gas fired heat exchanger, 230V, IDB motor,
12”x9“wide blower wheel, a single reciprocating type compressor and a single refrigeration circuit. The unit uses TXV for refrigerant
control. Standard controller, standard plastic drain pan, and 4” high efficiency pleated filters were selected.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
860 89 59 42 3.3 2.8 4.3
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-01. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 41 of 61




UUT4a
Unit Under Test (UUT)
Summary Sheet

(*) DCL

DYyNaAaMIC
CERTIFICATION
LABORATORIES,LLE

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: 7)061513T5BZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Short 5-ton cooling-only unit with stainless steel natural gas fired heat exchanger, 575V, IDB motor, 12”x9“wide blower wheel, a single
reciprocating type compressor and a single refrigeration circuit. The unit uses TXV for refrigerant control. Full modulating slab
economizer with PE, optional IntelliComfort controller, standard plastic drain pan & standard 2” TA air filters were selected.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) < v
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,070 89 59 42 6.8 5.8 6.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of
the curb. The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the
pockets using (6) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min
spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 42 of 61



UUT4b

(“» DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Short 3-5 Ton)

Model Number: 7]061S13T5BZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

Short 5-ton cooling-only unit with stainless steel natural gas fired heat exchanger, 575V, IDB motor, 12”x9“wide blower wheel, a single
reciprocating type compressor and a single refrigeration circuit. The unit uses TXV for refrigerant control. Full modulating slab
economizer with PE, optional IntelliComfort controller, standard plastic drain pan & standard 2” TA air filters were selected.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) 3 -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,070 89 59 42 3.3 3.3 4.3
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-01. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 43 of 61




UUT5a

(“» DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Standard 6.5-12.5 Ton)

Model Number: ZR078N10D2DZZ5001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5-ton standard reheat unit with aluminized natural gas fired heat exchanger, 230V, solenoid valves, indoor (ID) reheat coil, IDB motor,
12”x12“ blower wheel, micro channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. These units use TXV
for modulating refrigerant control. An optional Motorized economizer/no power exhaust (PE), non-powered convenience outlet,
standard controller, standard plastic drain pan, & 2” pleated air filters were selected. The ZR/ZK 6.5 ton series uses a dual ODF motor
deck arrangement.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) v -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,060 89 59 53 6.0 5.5 5.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of
the curb. The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the
pockets using (6) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min
spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 44 of 61




UUT5b
Unit Under Test (UUT) (( )) DCL

DYNAMIC
CERTIFICATION

Summary Sheet et s

Manufacturer: Johnson Controls Incorporated

Product Line: Predator (Standard 6.5-12.5 Ton)

Model Number: ZR078N10D2DZZ5001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5-ton standard reheat unit with aluminized natural gas fired heat exchanger, 230V, solenoid valves, indoor (ID) reheat coil, IDB motor,
12”x12“ blower wheel, micro channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. These units use TXV
for modulating refrigerant control. An optional Motorized economizer/no power exhaust (PE), non-powered convenience outlet,
standard controller, standard plastic drain pan, & 2” pleated air filters were selected. The ZR/ZK 6.5 ton series uses a dual ODF motor
deck arrangement.

UUT Properties
. Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) v -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,060 89 59 53 2.8 2.8 4.5
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-02. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 45 of 61




UUT6a
Unit Under Test (UUT) (( )) DCL

DYNAMIC
CERTIFICATION

Summary sheet LABORATORIES,LLC

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: ZZR150N20N5GZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12.5-ton standard reheat unit with aluminized gas heat section, 575V, solenoid valves, ID reheat coil, IDB motor, 12x15" wide blower
wheel, micro channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. The unit uses TXV for modulating
refrigerant control. Standard controller was used. An optional supply air (SA) smoke detector, stainless steel drain pan, & 4” pleated
air filters were selected.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) " .
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,600 1191/2 59 42 6.8 4.0 5.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by MicroMetl, part #0564-C14D-0010. The unit rested on the perimeter of
the curb. The curb had (4) 12Ga anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to each of the
pockets using (6) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts. The min
spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 46 of 61



UuUT6b
Unit Under Test (UUT) (( )) DCL

DYNAMIC
CERTIFICATION

Summary Sheet CABDRATORIES, L

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: 7ZZR150N20N5GZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12.5-ton standard reheat unit with aluminized gas heat section, 575V, solenoid valves, ID reheat coil, IDB motor, 12x15" wide blower
wheel, micro channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. The unit uses TXV for modulating
refrigerant control. Standard controller was used. An optional supply air (SA) smoke detector, stainless steel drain pan, & 4” pleated air
filters were selected.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) S -
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,600 1191/2 59 42 2.8 2.5 5.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-04. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 47 of 61



UUT7a
Unit Under Test (UUT) (( )) DCL

DYNAMIC
CERTIFICATION

Summary Sheet el I

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: XPO78E09A2BACS

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5 ton standard heat pump unit with 9kW electric heat section, 230V, finned/tube OD coils, IDB motor, 12”x12“ wide blower wheel,
fin/tube OD coils, dual scroll type compressors, and dual refrigeration circuits. The unit uses TXV for modulating refrigerant control on
both ID/OD coils. A standard controller, standard plastic drain pan, 2” fiberglass TA air filters and dual outdoor fan (ODF) motor deck
arrangement were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) \ -
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
970 89 59 42 12.3 8.3 13.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by Ruskin, part #80-270-4414. The unit rested on the perimeter of the curb.
The curb had (12) 12Ga anchoring pockets, (2) on the each of the short sides of the curb and (4) on each of the long sides of the curb.
The unit was attached to each of the pockets using (2) # 14 - 5 inch long self tapping screws. The curb was attached to a 3/4" thick steel
plate with (8) 3/8"-dia Gr. 2 bolts. There were two bolts on each side of the unit. The bolts were mounted five inches inward from the
edge of the curb flange. The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 48 of 61




UUT7b

() DCL

DYyNAaMIDC
CERTIFICATION
LABORATORIES,LLE

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: XPO78E09A2BACS

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5 ton standard heat pump unit with 9kW electric heat section, 230V, finned/tube OD coils, IDB motor, 12”x12“ wide blower wheel,
fin/tube OD coils, dual scroll type compressors, and dual refrigeration circuits. The unit uses TXV for modulating refrigerant control on
both ID/OD coils. A standard controller, standard plastic drain pan, 2” fiberglass TA air filters and dual outdoor fan (ODF) motor deck
arrangement were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) A .
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
970 89 59 42 2.8 2.5 3.5
Seismic Test Parameters
Building Code Test Criteria Sds(g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by Ruskin (Provent), part #1ISCALPRD371522_104. The unit rested on
the perimeter of the curb. The curb had (6) 10Ga anchoring pockets, (2) on the each of the long side of the curb and (1) on each short
side. The unit was attached to each of the pockets using (4) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 5 bolts. The bolts were spaced 5-inches in from each side of the curb. The steel plate was attached to the shake
table with (12) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 49 of 61



UUT8a

(*) DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: XP150E54N5HZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12. 5 ton standard heat pump with 54 kW electric heat section, 575V, finned/tube OD coils, IDB motor, 15x15”wide blower wheel,
fin/tube OD coils, dual scroll type compressors, and dual refrigeration circuits. The unit uses TXV for modulating refrigerant control.
Optional IntelliComfort controller, optional return air (RA) smoke detector, standard plastic drain pan & standard 2” fiberglass TA air
filters were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) 5 -
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,510 119 1/2 59 51 9.8 6.0 14.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by Ruskin, part #80-270-4414. The unit rested on the perimeter of the curb.
The curb had (12) 12Ga anchoring pockets, (2) on the each of the short sides of the curb and (4) on each of the long sides of the curb.
The unit was attached to each of the pockets using (2) # 14 - 5 inch long self tapping screws. The curb was attached to a 3/4" thick steel
plate with (8) 3/8"-dia Gr. 2 bolts. There were two bolts on each side of the unit. The bolts were mounted five inches inward from the
edge of the curb flange. The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 50 of 61




UUTS8b
Unit Under Test (UUT)
Summary Sheet

() DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: XP150E54N5HZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12. 5 ton standard heat pump with 54 kW electric heat section, 575V, finned/tube OD coils, IDB motor, 15x15”wide blower wheel,
fin/tube OD coils, dual scroll type compressors, and dual refrigeration circuits. The unit uses TXV for modulating refrigerant control.
Optional IntelliComfort controller, optional return air (RA) smoke detector, standard plastic drain pan & standard 2” fiberglass TA air
filters were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) 3 .
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,510 1191/2 59 51 2.0 2.3 3.5
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by Ruskin (Provent), part #/SCALPRD371522_103. The unit rested on
the perimeter of the curb. The curb had (6) 10Ga anchoring pockets, (2) on the each of the long side of the curb and (1) on each short
side. The unit was attached to each of the pockets using (4) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 5 bolts. The bolts were spaced 5-inches in from each side of the curb. The steel plate was attached to the shake
table with (12) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 51 of 61



UUT9a (( )) DCL

Unit Under Test (UUT) o
Summary Sheet EABORATORIES, L

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: 7)150S20S5BZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12. 5 ton standard cooling only unit with stainless steel gas heat section, 575V, IDB motor, 15x15”wide blower wheel, Micro Channel OD
coils, dual reciprocating type compressors, dual refrigeration circuits, 4 ODFs, and a “W” shaped OD condenser coil. The unit uses TXV
for modulating refrigerant control. An optional VFD w/ manual bypass switch, fully modulating horizontal economizer/no PE, no
convenience outlet, standard controller, standard plastic drain pan & standard 2” TA air filters were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) X :
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,570 119 1/2 59 51 7.8 5.5 10.3
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by Ruskin, part #80-270-4414. The unit rested on the perimeter of the curb.
The curb had (12) 12Ga anchoring pockets, (2) on the each of the short sides of the curb and (4) on each of the long sides of the curb.
The unit was attached to each of the pockets using (2) # 14 - 5 inch long self tapping screws. The curb was attached to a 3/4" thick steel
plate with (8) 3/8"-dia Gr. 2 bolts. There were two bolts on each side of the unit. The bolts were mounted five inches inward from the
edge of the curb flange. The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 52 of 61




UuUT9b
Unit Under Test (UUT) (( )) DCL

DYNAMIC
CERTIFICATION

Summary Sheet LABGRATOAIES,LLE

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: 7)150S20S5BZZ50001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12. 5 ton standard cooling only unit with stainless steel gas heat section, 575V, IDB motor, 15x15”wide blower wheel, Micro Channel OD
coils, dual reciprocating type compressors, dual refrigeration circuits, 4 ODFs, and a “W” shaped OD condenser coil. The unit uses TXV
for modulating refrigerant control. An optional VFD w/ manual bypass switch, fully modulating horizontal economizer/no PE, no
convenience outlet, standard controller, standard plastic drain pan & standard 2” TA air filters were used.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) 2 R
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,570 119 1/2 59 51 2.8 2.5 2.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.34 0.54

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-04. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 53 of 61



UUT10a

() DCL

DYNAMIC
CERTIFICATION
LABDRATORIES,LLE

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: ZF078510F2BZZ5001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5 ton standard cooling only unit with smallest stainless steel natural gas fired heat exchanger, 230V, 12”x12“ wide blower wheel,
Micro Channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. TXV used for modulating refrigerant
control. Optional VFD used with fully modulating slab economizer with PE, standard controller, standard plastic drain pan & standard 2”
TA air filters. Dual outdoor fan (ODF) motor deck arrangement.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - ;
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,090 89 59 42 11.3 7.5 9.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by Ruskin, part #80-270-4414. The unit rested on the perimeter of the curb.
The curb had (12) 12Ga anchoring pockets, (2) on the each of the short sides of the curb and (4) on each of the long sides of the curb.
The unit was attached to each of the pockets using (2) # 14 - 5 inch long self tapping screws. The curb was attached to a 3/4" thick steel
plate with (8) 3/8"-dia Gr. 2 bolts. There were two bolts on each side of the unit. The bolts were mounted five inches inward from the
edge of the curb flange. The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 54 of 61




UUT10b

() DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Unit Under Test (UUT)
Summary Sheet

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: ZF078510F2BZZ5001

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

6.5 ton standard cooling only unit with smallest stainless steel natural gas fired heat exchanger, 230V, 12”x12“ wide blower wheel,
Micro Channel OD coils, dual reciprocating type compressors, and dual refrigeration circuits. TXV used for modulating refrigerant
control. Optional VFD used with fully modulating slab economizer with PE, standard controller, standard plastic drain pan & standard 2”
TA air filters. Dual outdoor fan (ODF) motor deck arrangement.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) % .
Depth Width Height Front-Back (X) | Side-Side (Y) [ Vertical (2)
1,090 89 59 42 2.8 2.5 4.5
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by MicroMetl, part #0405-642D-02. The unit rested on the perimeter of
the curb. The curb had (4) 10Ga, 11-inch side anchoring pockets, (2) on the each of the long side of the curb. The unit was attached to
each of the pockets using (8) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate with (14) 1/2"-dia Gr. 2 bolts.
The min spacing for the bolts was 8". The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 55 of 61




UUT11a
Unit Under Test (UUT)
Summary Sheet

(“) DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLC

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: ZH150C00A2BAC5

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12.5 ton standard cooling only unit with single V OD coil design, 230V, 12x12”wide blower wheel, micro channel OD coils, dual scroll type
compressors, dual refrigeration circuits, and 4 ODFs. The unit uses TXV for modulating refrigerant control. No heat section (cooling only),
VAV, no economizer/no power exhaust (PE), no convenience outlet, standard controller, no phase monitor or dirty filter switch, no smoke
detectors, standard plastic drain pan & standard 2” fiberglass air filters were selected.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) : .
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,250 1191/2 59 51 7.8 6.3 12.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Afix-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to a rigid roof curb supplied by Ruskin, part #80-270-4414. The unit rested on the perimeter of the curb.

The curb had (12) 12Ga anchoring pockets, (2) on the each of the short sides of the curb and (4) on each of the long sides of the curb. The
unit was attached to each of the pockets using (2) # 14 - 5 inch long self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 2 bolts. There were two bolts on each side of the unit. The bolts were mounted five inches inward from the edge of
the curb flange. The steel plate was attached to the shake table with (22) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of the
component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 56 of 61



UUT11b
Unit Under Test (UUT)
Summary Sheet

() DCL

DYNAMIC
CERTIFICATION
LABORATORIES,LLE

Manufacturer: Johnson Controls Incorporated

Product Line: Predator

Model Number: ZH150C00A2BACS

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

12.5 ton standard cooling only unit with single V OD coil design, 230V, 12x12”wide blower wheel, micro channel OD coils, dual scroll type
compressors, dual refrigeration circuits, and 4 ODFs. The unit uses TXV for modulating refrigerant control. No heat section (cooling
only), VAV, no economizer/no power exhaust (PE), no convenience outlet, standard controller, no phase monitor or dirty filter switch,
no smoke detectors, standard plastic drain pan & standard 2” fiberglass air filters were selected.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - ;
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,250 119 1/2 59 51 2.5 2.3 3.8
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Afix-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.50 1.00 1.50 4.00 3.00 1.67 0.67

Unit Mounting Description:

Description: Unit was mounted to an isolated roof curb supplied by Ruskin (Provent), part #1SCALPRD371522_103. The unit rested on
the perimeter of the curb. The curb had (6) 10Ga anchoring pockets, (2) on the each of the long side of the curb and (1) on each short
side. The unit was attached to each of the pockets using (4) # 12 self tapping screws. The curb was attached to a 3/4" thick steel plate
with (8) 3/8"-dia Gr. 5 bolts. The bolts were spaced 5-inches in from each side of the curb. The steel plate was attached to the shake
table with (12) M12 threaded studs.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021

OSP-0213

Page 57 of 61




UUT 12a
Unit Under Test (UUT) (( )) D C L

DYNAMIC

summary Sheet CERTIFICATION
Manufacturer: Johnson Controls Incorporated
Product Line: Predator

Model Number: ~ ZT120N18P2B1LAAKA1

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

The UUT is comprised of components including the following: refridgerant compressor, outdoor fan motor, outdoor and indoor coils,
VFD, economizer, Filters, smoke detector, Simplicity SE

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) - -

Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)

1,470 119.5 59.0 51.0 6.5 9.5 125

Seismic Test Parameters

Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)

CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.33 0.53

Unit Mounting Description:

The unit was mounted to a rigid roof curb supplied by Ruskin part #80270-2914 8" height model. The unit rested on the perimeter of the
curb. The unit was attached to the curb via (18) manufacturer provided mounting clips on the curb with (2) #10 TEK screw holes each
spaced at 5" on each clip and each clip spaced 8", 20.5", 11", 20.5", and 8" on center respectively on the longer side and 18" on center on
the shorter side for a total of (36) #10 TEK self tapping screws. The curb was attached to a steel plate shake table interface plate with (8)
3/8"-diameter grade 5 bolts and washers. The bolts were spaced 38" depthwise and 68" widthwise.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 58 of 61




UUT 12b
Unit Under Test (UUT) (( )) DCL

DYNAMIC

Summary Sheet S
Manufacturer: Johnson Controls Incorporated
Product Line: Predator

Model Number:  ZT120N18P2B1LAAKA1

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

The UUT is comprised of components including the following: refridgerant compressor, outdoor fan motor, outdoor and indoor coils,
VFD, economizer, Filters, smoke detector, Simplicity SE 2-stage with COM, Simplicty SE 4-stage board.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) : ;
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,470 119.5 59.0 51.0 3.5 4.0 8.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.33 0.53

Unit Mounting Description:

Unit was mounted to a isolated roof curb supplied by MicroMetl part #CRBV-PRDO1FA-081-020. The unit rested on the perimeter of the

curb. The unit was attached to the curb via (8) manufacturer provided mounting clips with (6) #10 TEK screw holes each spaced at 1.375"
on each clip and each clip spaced 20+1/8" on center for a total of (48) #10 TEK self tapping screws. The curb was attached to a steel plate
shake table interface plate with (8) 3/8"-diameter grade 5 bolts and washers. The bolts were spaced 41" depthwise and 71.5" widthwise.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 59 of 61



UUT 13a
Unit Under Test (UUT) (( )) DCL

DYNAMIC

Summary Sheet S
Manufacturer: Johnson Controls Incorporated
Product Line: Predator

Model Number: ~ ZT150S24RAD5LAE3E1

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

The UUT is comprised of components including the following: refridgerant compressor, outdoor fan motor, outdoor and indoor coils,
VFD, economizer, Filters, smoke detector, Simplicity SE 2-stage with COM, Simplicty SE 4-stage board.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) : :
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,680 119.5 59.0 51.0 6.0 9.0 13.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.33 0.53

Unit Mounting Description:

The unit was mounted to a rigid roof curb supplied by Ruskin part #80-270-2914 14" height model. The unit rested on the perimeter of
the curb. The unit was attached to the curb via (18) manufacturer provided mounting clips on the curb with (2) #10 TEK screw holes each
spaced at 5" on each clip and each clip spaced 8", 20.5", 11", 20.5", and 8" on center respectively on the longer side and 18" on center on
the shorter side for a total of (36) #10 TEK self tapping screws. The curb was attached to a steel plate shake table interface plate with (8)
3/8"-diameter grade 5 bolts and washers. The bolts were spaced 38" depthwise and 68" widthwise.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 60 of 61




UUT 13b
Unit Under Test (UUT) (( )) DCL

DYNAMIC

Summary Sheet S
Manufacturer: Johnson Controls Incorporated
Product Line: Predator

Model Number: ~ ZT150S24RAD5LAE3E1

Product Construction Summary:

Cabinet is constructed of G90 galvanized 1,000 hour salt spray (per ASTM-B117) rated powder-coated 20 gage carbon steel wrapper and
duct panel with integral corner posts, all attached at the base to four (4) full perimeter 14 gage base rails with #10 sheet metal screws.

Options / Component Summary:

The UUT is comprised of components including the following: refridgerant compressor, outdoor fan motor, outdoor and indoor coils,
VFD, economizer, Filters, smoke detector, Simplicity SE 2-stage with COM, Simplicty SE 4-stage board.

UUT Properties
Dimensions (inches) Lowest Natural Frequency (Hz)
Weight (Ib) : :
Depth Width Height Front-Back (X) | Side-Side (Y) | Vertical (2)
1,680 119.5 59.0 51.0 2.5 3.5 6.0
Seismic Test Parameters
Building Code Test Criteria Sds (g) z/h Ip Aflx-H (g) Arig-H (g) Aflx-V (g) Arig-V (g)
CBC 2019 ICC-ES AC156 2.00 1.00 1.50 3.20 2.40 1.33 0.53

Unit Mounting Description:

Unit was mounted to a isolated roof curb supplied by MicroMetl part #CRBV-PRDO1FA-1412-P40. The unit rested on the perimeter of the
curb. The unit was attached to the curb via (8) manufacturer provided mounting clips with (6) #10 TEK screw holes each spaced at 1.375"
on each clip and each clip spaced 20+1/8" on center for a total of (48) #10 TEK self tapping screws. The curb was attached to a steel plate
shake table interface plate with (8) 3/8"-diameter grade 5 bolts and washers. The bolts were spaced 41" depthwise and 71.5" widthwise.

Note: The UUT was operational before and after shaking and was full of operating content during the tests. The structural integrity of
the component attachment system and force-resisting systems was maintained.

03/08/2021 OSP-0213 Page 61 of 61



	OSP-0213 Attachments.pdf
	07181-1901 OSP Product Summary_083019 NB 1a.pdf
	Nomenclature ALL 2.pdf
	07181-1901 OSP Product Summary_083019 NB 3a.pdf
	07181-1901 OSP Product Summary_083019 NB 4a.pdf
	07181-1901 UUT Summary Sheets NB 190830.pdf




